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HEHS [EE 7L (AR) EIIEES () RIHG ()
)T H HETE SEH) S N~ T KA n/n fE5] S/ N~ KA n/n 25 S/ NME~ KA n/n
p H 7.3 7.0 ~ 7.5 0/ 12 7.1 7.0 ~ 7.3[ 0/ 12 7.4 7.1~ 770 0/ 12
DO (mg/1) 11 9.3 ~ 14| 0/ 12 12 8.8 ~ 16] 0/ 12 10 8.3 ~ 13] 0/ 12
BOD (mg,1) 0.7 0.5 ~ L1f 2/ 12 0.7 0.5 ~ L1 0/ 12 0.8] < 0.5 ~ 15[ 0/ 12
BOD (T B 75%1) 0.8 0.7 0.9
COD (mg,1) 1.6 0.7 ~ 3.9] 0/ 12 1.4 0.7 ~ 2.3[ 0/ 12 1.9 1.4~ 2.6[ 0/ 12
AEERSIEA (D [s's (mg,/1) 3 1~ 7] 0/ 12 4 1~ 1| o/ 12 4 1~ 1] 0/ 12
Ry B A (MPN,/100m1) 2. TE03 1. 1E02 ~ 1.3E04[ 12/ 12 1. 4E03 1. TE01 ~ 7.0803] 5/ 12 3. 1E03 4.5E01 ~ 1L1E04[ 7/ 12
0~ E Y (wg/"D) ND 0r 4
LIk (mg,/1) 0. 35 0.29 ~ 0.42) 4/ 4 0. 54 0.47 ~ 0.67| 4/ 4 0. 40 0.32 ~ 0.49| 12/ 12
B (mg,/1) 0. 006 0.003 ~ 0.012] 4/ 4 0.012 0.010 ~ 0.014] 4/ 4 0.017 0.009 ~ 0.035[12/ 12
2T (mg/1)| < 0.001 <0.001 0o/ 1[< o.001 < 0.001 0/ 1 0. 009 0.002 ~ 0.032] 0/ 12
RS (ng/1)| < 0.001 < 0.001 0/ 1 < 0.001 < 0.001 0/ 4
LTV (mg,/'1) ND ND 0/ 1 ND ND 0/ 12
k) (mg/1)| < 0.005 < 0.005 0/ 1 < 0.005 < 0.005 0/ 12
Al | L (mg/ )| < 0.04 < 0.04 0/ 1 < 0.04 < 0.04 0/ 4
=S (mg,/1) < 0.005 < 0.005 0/ 12
KRR (mg,/1) | < 0.0005 <0. 0005 0/ 1 < 0.0005 <0. 0005 0/ 4
TV F VKSR (mg,/'1)
(mg,/1) ND ND 0/ 1 ND ND 0/ 1
(mg,/1) < 0.002 < 0.002 0/ 2
(mg/1) | < 0.0002 <€0. 0002 0/ 1 < 0.0002 <€0. 0002 0/ 2
(mg,/1) < 0.0004 <€0. 0004 0/ 2
1, 1-YrapxFlLy (mg,/1) < 0.002 < 0.002 0/ 2
VA—1, 2—Y/uRnTFLv (mg,/1) < 0.004 < 0.004 0/ 2
fo— 1, 1, 1-hYsumxyy (mg,/1) | < 0.0005 <0. 0005 0/ 1 < 0.0005 <0.0005 0/ 2
1, 1, 2—hVZmppzgy (mg//1) | < 0.0006 <€0. 0006 0/ 1 < 0.0006 <€0. 0006 0/ 2
M) ZpaxFLo (ng/1)| < 0.002 < 0.002 0/ 1 < 0.002 < 0.002 0/ 2
FhIsmpTFLL (mg/1) | < 0.0005 <0. 0005 0/ 1 < 0.0005 <0.0005 0/ 2
1, 3—Ysmruru~y (mg/1) | < 0.0002 <€0. 0002 0/ 1 < 0.0002 <€0. 0002 0/ 2
FUT A (mg,/'1) < 0.0006 <€0. 0006 0/ 2
Yy (mg.,/'1) < 0.0003 <0.0003 0/ 2
FARXUHNT (mg,/1) < 0.002 < 0.002 0/ 2
R (mg/1) < 0.001 < 0.001 0/ 2
Ly (mg,/'1) < 0.002 < 0.002 0/ 2
T A 28 S % OV R A 28 R (mg,/1) 0.31 0.29 ~ 0.33) 0/ 4
LA R 2 (mg,/1) 0. 007 0.004 ~ 0.011] 4/ 4
5o (mg,/1) 0.1] < 0.1~ 0.1] 0/ 4
139 # (mg,/1) 0.02[ < 0.02 ~ 0.02] 0/ 4
1, 4—VFFH (mg,/'1)
J R A (mg/1) < 0.006 < 0.006 0/ 1
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
Va=2=-F: .V ¥N (mg, /1) < 0. 006 0/ 1
Forz2—1, 2-YZppxFLr (mg./'1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
7x=hnFir (MEP) (mg/1)
AV TaFHT (mg/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 fDDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
suji=tr7=xr (CNP) * (mg/1) <€0. 0005 0/ 2
INDES (mg,/1)
FrLy (mg/1)
THNBEYTF L ~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
Hihe=1%/)~v— (mg,/1)
TEsmRE RY Y (ng/1)
B HY (mg,/1) <0.02 0/ 1
v7v (mg,/1)
7 = ) — Kk (mg/1) < 0.01 0/ 4
% (mg,/1) < 0.01 0/ 4
B (ARtE) * (mg,/1) 0. 06 0.03 ~ 0.09[ 4/ 4
~ v (GREE) * (mg./'1) < 0.02 0/ 4
71 bk (mg,/1) < 0.02 0/ 4
T = T A (mg,/1) 0.06) < 0.05 ~ 0.07 4/ 12
DATHEE S R (mg,/1)
Z O H (mg,/1) 0. 008 0.004 ~ 0.014| 4/ 4
(mg,/1) 0.9 0.7 ~ 2.2[12/ 12
(BE) 1 1~ 19] 8/ 12 4 1~ 10|11/ 12 3 1~ 12[12/ 12
(ms/m) 1.9 3.4~ 6.0]12/ 12 5.9 1.1 ~ 9.1|12/ 12
ClAFr* (mg,/ 1) 3 1~ 6 4/ 4
JBBET f)Lax (ng/l) < 1 0/ 2 1 1~ 1 1/ 2
S AT R B R R (15,7 100m1) 67 38 ~ 95 2/ 2 5 4 ~ 6 2/ 2 1100 5~ 6400] 12/ 12
A A R IR A (ng,/1)
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HGEHL R OREITR) [} ENCESRD) () IR A (AA)

HEE H HETE SfE) S N~ T KA n/n E25] S/ N~ KA n/n 23] S/ NME~ KA n/n
p H 7.3 7.1~ 7.7 0/ 12 7.4 7.2 ~ 7.70 0/ 12 7.4 7.0 ~ 8.1 o/
DO (mg/1) 10 7.9 ~ 13 0/ 12 10 8.0 ~ 13] 0/ 12 9.5 8.4~ 11| 0/
BOD (mg,1) 0.9 < 0.5 ~ 2.4] 1/ 12 0.7] < 0.5 ~ 3] 0/ 12 1.0 0.7 ~ 14| 1/
BOD (T B 75%1) 0.8 0.6 1.4
COD (mg/1) 1.8 1.5 ~ 2.3 0/ 4 1.9 1.3 ~ 2.7 0/ 12 1.9 1.4~ 2.4 0/

AEERSIEA (D [s's (mg,/1) 4 1~ 120 0/ 12 3 1~ 4| 0/ 12 1f < 1~ 2| 0/
Ry B A (MPN,/100m1) 1. 9E03 1. 3E02 ~ 3.3E03] 3/ 4 1. 9E03 1.8E01 ~ 4.9E03| 7/ 12 1. 8E03 6. 8E00 ~ 5.4E03| 1/
n —~F A R (mg,/'1) ND 0/ 4
LIk (mg,/1) 0.47 0.42 ~ 0.55) 4/ 4 0. 44 0.35 ~ 0.59[12/ 12 0. 24 0.08 ~ 0.44] 3/
B (mg,/1) 0. 022 0.017 ~ 0.024] 4/ 4 0.018 0.010 ~ 0.036| 12/ 12 0.011] < 0.003 ~ 0.024[ 2/
g (mg,1) 0.009[ < 0.001 ~ 0.025[ 0/ 4 0.006[ < 0.001 ~ 0.025[ 0/ 12
RS (mg,/1) < 0.001 < 0.001 0/ 4
LTV (mg,/'1) ND ND 0/ 4
§h (mg/ 1| < 0.005 < 0.005 0/ 4f < 0.005 < 0.005 0/ 12
Al 2 7 (mg,/1) <004 < 0.04 0/ 4
=3 (mg/1)| < 0.005 < 0.005 0/ 4] < 0.005 < 0.005 0/ 12
HEKER (mg,/1) < 0.0005 <€0. 0005 0/ 4
T X LK (mg,/1)

PCB (mg,/'1) ND ND 0/ 1
vranurys (mg,/1) < 0.002 < 0.002 0/ 2
DU fb (mg,/'1) < 0.0002 <0. 0002 0/ 2
1, 2—Y/nnxiy (mg,/'1) < 0.0004 <0.0004 0/ 2
1, 1-Y/apxFLy (mg,/'1) < 0,002 < 0.002 0/ 2
YA—1, 2—Y/uRxFLr (mg,/'1) < 0.004 < 0.004 0/ 2
e 1, 1, 1—hkYrppxiy (mg,/1) < 0.0005 <0.0005 0/ 2
1, 1, 2—hVZmppzgy (mg/1) < 0.0006 <€0. 0006 0/ 2
M) ZpaxFLo (mg,/1) < 0.002 < 0.002 0/ 2
FhIrmBIFL L (mg/1) < 0.0005 <€0. 0005 0/ 2
1, 3—Yrunrusy (mg,/1) < 0.0002 <0. 0002 0/ 2
FUT A (mg/1) < 0.0006 <0. 0006 0/ 2
Pt (mg/1) < 0.0003 <€0.0003 0/ 2
FARXUHNT (mg,/1) < 0.002 < 0.002 0/ 2
R (mg/1) < 0.001 < 0.001 0/ 2
Ly (mg/1) < 0.002 < 0.002 0/ 2
T A 28 S % OV R A 28 R (mg,/1) 0.35 0.30 ~ 0.42[ 0/ 4
LA R 2 (mg,/1) 0. 007 0.003 ~ 0.012] 4/ 4
5o (mg,/1) 0.1] < 0.1~ 0.1] 0/ 4
139 # (mg,/1) 0.02] < 0.02 ~ 0.02] 0/ 4
1, 4—VFFH (mg,/'1)
J R A (mg/1) < 0.006 < 0.006 0/ 1
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
R (mg,/1) < 0.006 0/ 1
FFv2—1, 2—Y/mppxFlL (mg,/1)
1, 2—=Y7murruy (mg,/1)
p—YrmRR Yy (mg/1)
AV FYFF (mg./'1)
ATV (mg,/1)
Zx=btrFFr (MEP) (mg./'1)
AV TaFHT (mg/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg/1)
R \\/\‘71:1/@%7 fDDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
smri=tr7xr (CNP) * (mg,/1) <0. 0005 0/ 2
b=y (mg./'1)
FrLy (mg/1)
THNEED T ~F L (mg./'1)
=k (mg./'1)
€Y TT (mg,/1)
TYFEY (mg,/1)
ke =LE ) ~v— (mg,/1)
TEsmRE RY Y (ng/1)
Ky (mg,/1)
v7v (mg,/1)
eVt (mg,/1) < 0.01 0/ 4
B (mg,/1) < 0.01 0/ 4
B (ARtE) * (mg,/1) 0. 06 0.03 ~ 0.09[ 4/ 4
~ v (GREE) * (mg,/ 1) < 0,02 0/ 4
e (mg./1) < 0,02 0/ 4
T =T HEEHR (mg,/1) < 0.05 0/ 4 0.05[ < 0.05 ~ 0.05| 1/ 12
DATHEE S R (mg,/1)
ZOfIEH (mg,/1) 0.011 0.010 ~ 0.014f 4/ 4
(mg,/1) 0.9 0.6 ~ 1.8]12/ 12
8 [ (BE) 4] < 1~ 18|11/ 12 4| < 1~ 1911/ 12
SRR R (ms/m) 4.1 3.7 ~ 1.9] 3/
ClAFrx (mg./'1) 4 2~ 7| 4/ 4 4 2~ 7| 4/ 4
JHB7 4l ax% (ng/l) 6 1/
S AT R B R R (15,7 100m1) 62 33 ~ 88| 4/ 4 320 7~ 1600 12/ 12
B A A o i I A (mg./'1)
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RS E N [ EEEES (AA) AR (AA)

s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n 25 S/ NME~ KA m/n
p H 7.4 6.7 ~ s.0f o/ 4 7.6 7.1~ 8.2[ o/ 4 7.3 7.2 ~ 7.4 o/
DO (mg,1) 9.0 7.5 ~ 1 os 4 9.3 8.2 ~ 0 o0/ 4 11 9.2 ~ 13| 0/
BOD (mg,1) 0.8] < 0.5 ~ 12| 1/ 4 0.8 0.6 ~ 0.9] 0/ 4f< 0.5 < 0.5 0/
BOD (F Be: 75%i0) 0.8 0.9 < 0.5
COD (mg,1) 1.8 1.5 ~ 2.0l 0/ 4 1.6 1.4~ 1.9] 0/ 4 1.1 0.9 ~ 1.3] 0/

AEERSIEA (D [s's (mg,/1) 3] < 1~ 71 0/ 4 2 1~ 2l 0/ 4 1 1~ 1| o/
Ry B A (MPN,/100m1) 3. 6E02 4, 9801 ~ 7.9802] 3/ 4 3. 9E02 2. 2E01 ~ 7.9802| 3/ 4 4. 4E03 7.9E01 ~ 1. 1E04[ 4/
n —~F A R (mg,/1)

LIk (mg,/1) 0.35| < 0.05 ~ 0.76] 3/ 4 0.21 0.07 ~ 0.33) 4/ 4 0. 32 0.17 ~ 0.47| 2/

B (mg,/1) 0.011 0.003 ~ 0.025| 4/ 4 0. 006 0.003 ~ 0.009] 3/ 4 0.010 0.007 ~ 0.012[ 2/
ity (mg,/1)
HEITA (mg,/1)
EYT v (mg,/'1)
k) (mg,/'1)
I PA=FS (mg,/1)
ft# (mg,/1)
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)
= (mg,/1)
3 (mg,/'1)
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hVZmu=g (mg,/1)
M) ZmpxFLyo (mg,/1)
FhrIrsmBREFLY (mg,/1)
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)

139 # (mg,/'1) <002 < 0.02 0/
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
EEWESIZ "t (mg,/1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z O H ER AN (mg,/1)
Sk (mg./'1)

(BE) 1 1~ 2 47/

TERUR I R (ms/m) 4.4 3.4 ~ 5.3 4/ 4 4.4 3.7 ~ 1.8] 4/ 4 5.0 4.4 ~ 6.1| 4/
ClAFr* (mg./'1)

smna7 )l axk (ng/l) 3 < 1~ 3l 1/ 2 3 2~ 4| 2/ 2

S AT R B R R (f#,/100m1)
A A BT A (mg,/1)
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HE L [ROE (DY) e () AT ()

s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n 25 S/ NME~ KA m/n
p H 7.2 7.0 ~ 7.3 0/ 2 7.1 7.0 ~ 7.2 0/ 7.5 7.4~ 7.6] 0/
DO (mg,1) 9.8 9.5 ~ 1w o/r 2 10 9.0 ~ 12 o/ 9.9 8.8 ~ 1] 0/
BOD (mg,1) 0.5 < 0.5 ~ 0.5] 0/ 2 0.6] < 0.5 ~ 0.8] 0/ 0.8 0.5 ~ 12| 0/
BOD (T B 75%1) 0.5 0.6 0.8
COD (mg,1) 1.3[ < 0.5 ~ 2.1 o/ 2 1.2 0.5 ~ 2.1 0/ 1.1 0.7 ~ 16| 0/

AEERSIEA (D [s's (g 1) | < 1 < 1 0/ 2 3| < 1~ 9] 0/ 1 1~ 2| 0/
Ry B A (MPN,/100m1) 4. 9E02 4. 9E02 0/ 2 2. 3E03 7.9E01 ~ 7.9£03| 1/ 8. 8E03 7.9E01 ~ 2.4E04| 3/
n —~F A R (mg,/1)
LIk (mg,/'1) 0.45 0.20 ~ 0.69] 4/ 0.35 0.30 ~ 0.39[ 27/
e (mg,/1) 0.018 0.013 ~ 0.021| 4/ 0.013 0.007 ~ 0.018| 2/
ity (mg,/1)
HEITA (mg,/1)
EYT v (mg,/'1)
k) (mg,/'1)
I PA=FS (mg,/1)
ft# (mg,/1)
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)

= (mg,/1)

3 (mg,/'1)
syonxyy (mg,/'1)

1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hVZmu=g (mg,/1)
M) ZmpxFLyo (mg,/1)
FhrIrsmBREFLY (mg,/1)
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)
ERES (mg,/'1)
1, 4—VFFH (mg,/'1)
V=T (mg,/1)

KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
A (HRER) (mg,'1)
smrZrn=/, (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)

R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
EEWESIZ "t (mg,/1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z O H ER AN (mg,/1)
Sk (mg./'1)
(BE) 4 1~ 8| 4/ < 0/
BRAGE R (ms/m) 4.3 3.9 ~ 1.7 2/ 2 4.8 3.5 ~ 6.1 4/ 3.7 3.4~ 3.8 4/
ClAFr* (mg./'1)
JBBET f)Lax (ng/l) 1 < 1~ 1 1/
S AT R B R R (f#,/100m1)
A A BT A (mg,/1)
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[ES ol P B BRI
HE L [AIT& Al [} TG () AT (©)

HEE H HETE SfE) S N~ T KA n/n E25] S/ N~ KA n/n 23] S/ NME~ KA n/n
p H 7.7 7.6 ~ 7.8] 0/ 4 7.5 7.4 ~ 7.6] 0/ 4 7.4 7.4 0/
DO (mg,1) 10 8.6 ~ 12 0/ 4 9.6 8.7 ~ 0 o0/ 4 9.7 8.7 ~ 10| 0/
BOD (mg,1) 0.9] < 0.5 ~ 14f 0/ 4 0.8] < 0.5 ~ 18] 0/ 4 2.0 11~ 3.6] 0/
BOD (F Be: 75%i0) 0.8 0.5 1.7
COD (mg,1) 1.0 0.6 ~ 1.5] 0/ 4 0.9] < 0.5 ~ 19| 0/ 4 4.3 1.8 ~ 6.1 0/

AEERSIEA (D [s's (mg,/1) 2| < 1~ 51 0/ 4 6] < 1~ 19 0/ 4 1 1~ 5[ 0/
Ry B A (MPN,/100m1) 4. 3803 2. 4E02 ~ 13604 3/ 4 1. 2E03 2. 4E02 ~ 2.4803| 2/ 4
n —~F A R (mg,/1)

LIk (mg,/1) 0. 55 0.48 ~ 0.61f 2/ 2 0. 50 0.41 ~ 0.58) 2/ 2 1.1 0.95 ~ 13| 2/
B (mg,/1) 0.018 0.017 ~ 0.018] 2/ 2 0.019 0.016 ~ 0.021] 2/ 2 0. 037 0.029 ~ 0.045[ 2/
ity (mg,/1)
RS (mg//1)| < 0.001 < 0.001 0/ 1
LTV (mg,/'1) ND ND 0/ 1
k) (mg/1)| < 0.005 < 0.005 0/ 1
Al 7 2 (mg/ D] < 0.04 < 0.04 0/ 1
ft# (mg,/1)
#ek g (mg/1)| < 0.0005 <0. 0005 0/ 1
T X LK (mg,/1)
PCB (mg,/1) ND ND 0/ 1
vranurys (mg,/'1)
3 (mg/1)| < 0.0002 <0. 0002 0/ 1
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg/1)| < 0.0005 <0. 0005 0/ 1
1, 1, 2—hYsmmxyr (mg,/1)| < 0.0006 <0. 0006 0/ 1
M) ZpaxFLo (ng/1)| < 0.002 < 0.002 0/ 1
FhIrmBIFL L (mg,/1) | < 0.0005 <0. 0005 0/ 1
1, 3—Y/mrrasy (mg,/1)| < 0.0002 <0. 0002 0/ 1
FUT A (mg,/'1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/'1)
ERES (mg,/'1)
1, 4—VFFH (mg,/'1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
Jma kLA (mg,/'1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—YrmRR Yy (mg/1)
A Y FHF L (mg,/1)
ATV (mg,/1)
Z7x=tuFF (MEP) (mg./'1)
A TaFFT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
sal=fr7xy (CNP) * (mg./'1)
bz (mg/1)
FrLy (mg/1)
TN T F L~F L (mg,/ 1)
= bk (mg./'1)
€Y TT (mg,/1)
TYFEY (mg,/1)
ke =LE ) ~v— (mg,/ 1)
TEsmRE RY Y (ng/1)
Ky (mg,/1)
V5 (mg,/'1) <0.0002 0/ 1
Tz ) — V% (mg,/ 1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T U= TR R (mg,/ 1)
AT S Fx (mg./'1)
Z OfIH vk g (mg /1)
b (mg./'1)
(BE) 2| < 1~ 3| 2/ 4 6| < 1~ 15| 3/ 4 2 1~ 4 47/
TERUR I R (ms/m) 7.2 5.5 ~ 1l 4/ 4 4.4 4.1 ~ 1.9] 4/ 4 10 7.1~ 14] 4/
ClAFr* (mg./'1)
JHB7 4bax (ug/l)
S AT R B R R (f#,/100m1)
B A A o i I A (mg./'1)
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TNES

S

[ES %011 [EESIESH EESIESH
HE L [AIT& Al [} EESIERS () KT ()

s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n 25 S/ NME~ KA m/n
p H 7.6 7.5 ~ 7.7 0/ 4 7.6 7.1~ 8.7 1/ 7.5 7.3 ~ 7.6] 0/
DO (mg,1) 11 9.6 ~ 1l o/ 4 9.4 7.9 ~ 11| o/ 9.5 8.0 ~ 1] 0/
BOD (mg,1) 0.9 0.5 ~ 15[ 0/ 4 17 0.9 ~ 3.2| 1/ 1.0 0.6 ~ 1.6] 0/
BOD (F Be: 75%i0) 0.9 1.5 0.9
COD (mg,1) 1.1 0.5 ~ 1L.7[ 0/ 4 2.4 0.7 ~ 4.5 0/ 1.9 1.3 ~ 2.5 0/

AEERSIEA (D [s's (mg,/1) 1 < 1~ 1o/ 4 2 1~ 4] 0/ 1 1~ 1| o/
Ry B A (MPN,/100m1) 3. 1E03 1. 3E02 ~ 7.9803| 2/ 4 9. 0E03 4,9E01 ~ 3.5804| 1/ 6. 8E03 4. 9E02 ~ 2.2E04| 3/
n —~F A R (mg,/1)

LIk (mg,/1) 0. 49 0.47 ~ 0.50[ 2/ 2 0. 59 0.52 ~ 0.77| 4/ 0.55 0.49 ~ 0.60| 2/

B (mg,/1) 0. 028 0.026 ~ 0.029] 2/ 2 0. 024 0.007 ~ 0.050| 4/ 0. 021 0.012 ~ 0,029 2/
ity (mg,/1)
HEITA (mg,/1)
EYT v (mg,/'1)
k) (mg,/'1)
I PA=FS (mg,/1)
ft# (mg,/1)
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)
= (mg,/1)
3 (mg,/'1)
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hVZmu=g (mg,/1)
M) ZmpxFLyo (mg,/1)
FhrIrsmBREFLY (mg,/1)
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)
ERES (mg,/'1)
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)

B H Y (mg,/ 1) < 0.02 0/

V5 (mg,/'1) <0.0002 0/
EEWESIZ "t (mg,/1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z O H ER AN (mg,/1)
Sk (mg./'1)

(BE) 1] < 1~ 1| 1/ 4 1 1~ 2 47/

BRAGE R (ms/m) 3.9 3.4 ~ 4.2 4/ 4 1.5 1.4 ~ 17| 4/ 4.8 4.5 ~ 5.3 4/
ClAFr* (mg./'1)

JHET ) ak (ng/l) 10 2~ 18[ 27/

S AT R B R R (f#,/100m1)
A A BT A (mg,/1)
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S EES

[ES BT A T i )1 BN
HE L [AIT& Al (©) B () R [B)

HEE H HETE SfE) S N~ T KA n/n E25] S/ N~ KA n/n 23] S/ NME~ KA n/n
p H 7.4 7.3 ~ 7.5 0/ 4 7.4 7.4~ 7.5 0/ 4 7.4 7.0 ~ 7.6] 0/
DO (mg,1) 9.4 7.4 ~ 1 os 4 11 8.8 ~ 1l o/r 4 10 7.5 ~ 13| 0/
BOD (mg,1) 2.3 1.4~ 3.6] 0/ 4 0.9 0.7 ~ 1.3 0/ 4 0.9 0.5 ~ 1.3] 0/
BOD (T B 75%1) 2.5 0.9 0.9
COD (mg,1) 1.9 1.0 ~ 6.2] 0/ 4 1.5 0.6 ~ 2.1 0/ 4 2.8 1.0 ~ 3.7 0/

AEERSIEA (D [s's (mg,/1) 2 1~ 2l 0/ 4 1 1~ 2l 0/ 4 4 1~ 6[ 0/
Ry B A (MPN,/100m1) 2. TE03 1. 3E02 ~ 7.9803] 2/ 4 2. 0E04 1. 9E01 ~ 7.0E04| 2/
n —~F A R (mg,/1)

LIk (mg,/1) 0. 59 0.58 ~ 0.60[ 2/ 2 0. 49 0.44 ~ 0.54) 2/ 2 0. 99 0.98 ~ 1Lof 2/
B (mg,/1) 0. 028 0.024 ~ 0.031] 2/ 2 0. 024 0.023 ~ 0.025| 2/ 2 0.074 0.070 ~ 0.078[ 2/
ity (mg,/1)
RS (mg//1)| < 0.001 < 0.001 0/ 1
LTV (mg,/'1) ND ND 0/ 1
N (mg/1)| < 0.005 < 0.005 0/ 1
Al 7 2 (mg/ D] < 0.04 < 0.04 0/ 1
ft# (mg,/1)
#ek g (mg/1)| < 0.0005 <0. 0005 0/ 1
T X LK (mg,/1)
PCB (mg,/'1)
vaa A Ky (mg,/1)
PU AL (mg/1) | < 0.0002 <0. 0002 0/ 1
1, 2 (mg,/1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg/1)| < 0.0005 <0. 0005 0/ 1
1, 1, 2—hYsmmxyr (mg,/1)| < 0.0006 <0. 0006 0/ 1
M) ZpaxFLo (ng/1)| < 0.002 < 0.002 0/ 1
FhIrmBIFL L (mg,/1) | < 0.0005 <0. 0005 0/ 1
1, 3—Y/mrrasy (mg,/1)| < 0.0002 <0. 0002 0/ 1
FUT A (mg,/'1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
(mg,/'1)
(mg,/'1)
1, 4—VFFH (mg,/'1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
Jma kLA (mg,/'1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—YrmRR Yy (mg/1)
A Y FHF L (mg,/1)
ATV (mg,/1)
Z7x=hueFir (MEP) (mg./'1)
Ay TaFtT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
sal=fr7xy (CNP) * (mg./'1)
bz (mg/1)
FrLy (mg/1)
TN T F L~F L (mg,/ 1)
= b (mg./'1) < 0.001 0/ 1
(mg./'1)
TUFEL (mg,/1)
ke =LE ) ~v— (mg,/1)
TEsmRE RY Y (ng/1)
v A (mg.,/'1) < 0.02 0/ 1 < 0,02 0/
V5 (mg,/1) <0.0002 0/ 1 <0. 0002 0/ 1
Tz ) — V% (mg,/ 1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T U= TR R (mg,/ 1)
AT S Fx (mg./'1)
ZOfIEH A b CEERRY Lo (mg./'1)
TOC* (mg,/1)
R (BE) 2 1~ 3| 4/ 4 1 1~ 1 1/ 4 4 1~ 5[ 3/
RURY (ms/m) 10 9.9 ~ 12 4/ 4 4.4 3.8 ~ 5.2| 4/ 4 13 9.9 ~ 17| 4/
ClAFr* (mg./'1)
JHB7 4bax (ug/l)
S AT R B R R (fi5,/100m1) 270 170 ~ 370 2/ 2
B A A o i I A (mg./'1)
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S

[ES A 1T i )1 )1 i
HEHLT [ (C) AR A i il (B) UL (B)

35 16 H 7 i S5 S /M~ Ji KA n/n 1) S /M~ Ji KA n/n -5 S/ IMIF A~ Ji KA n/n
pH 7.4 7.1 ~ 7.6] 0/ 4 7.4 7.0 ~ 7.6] 0/ 7.1 6.9 ~ 7.5 0/ 12
DO (mg,1) 9.3 7.4 ~ 1 os 4 11 7.7 ~ 15[ 0/ 11 8.0 ~ 14| 0/ 12
BOD (mg,1) 1.1 0.6 ~ 15[ 0/ 4 1.8 1.0~ 2.9] 0/ 1.2 0.5 ~ 2.5[ 0/ 12
BOD (T B 75%1) 1.3 2.0 1.3
coD (mg,1) 3.3 1.0~ 1.3 0/ 4 3.7 1.0~ 6.5 0/ 2.6 1.0 ~ 5.8 0/ 12

AEERSIEA (D [s's (mg,/1) 5 1~ 71 0/ 4 5 1~ 11| o/ 3 1~ 15[ 0/ 12
Ry B A (MPN,/100m1) 9. 9E04 3.3E03 ~ 3.5E05[ 3/ 4. 0E04 1. 3804 ~ 1.3E05[12/ 12
n —~F Al T (mg,/1)

LI Hx (mg,/1) 1.4 2/ 2 3.4 2.7 ~ 4.1 27/ 2.2 1.9 ~ 2.5 2/ 2
B (mg,/1) 0.12 0.10 ~ 0.13[ 2/ 2 0.11 0.082 ~ 0.13[ 2/ 0.11 0.085 ~ 0.14] 2/ 2
ity (mg,/1)
BRI YA (mg,/'1) < 0.001 < 0.001 0/ 1
2T (mg,/'1) ND ND 0/ 1
§h (mg,/'1) < 0.005 < 0.005 0/ 1
I PA=TS (mg,/1) < 0,04 < 0.04 0/ 1
ft# (mg,/1)
Fak R (mg,/1) < 0.0005 <€0. 0005 0/ 1
TV F VKSR (mg,/'1)
PCB (mg,/'1)
vaa A Ky (mg,/1)
Ju i {k (mg,/1) < 0.0002 <€0. 0002 0/ 1
1, 2 (mg,/1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)

W B 1, 1, 1—h)Zupxg (mg,/1) < 0.0005 <€0. 0005 0/ 1
1, 1, 2—hYsmmxyr (mg/1) < 0.0006 <0.0006 0/ 1
FYsmpTFLy (mg,/'1) < 0.002 < 0.002 0/ 1
FhrIrsmBREFLY (mg,/ 1) < 0.0005 <0. 0005 0/ 1
1, 3—Yrunrusy (mg,/1) < 0.0002 <0. 0002 0/ 1
FUT A (mg/1)

D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)

(mg,/'1)

(mg,/'1)
1, 4—VFFH (mg,/'1)
V=T (mg,/1)

KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
7x=hnFir (MEP) (mg/1)
Ay TaFtT (mg,/1)
A 8 () (mg,/1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)

R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
= b (mg./'1) < 0.001 0/ 1

(mg,/'1)
TUFEL (mg,/1)
Hihe=1%/)~v— (mg,/1)
TEsmRE RY Y (ng/1)
LN (mg./1) < 0,02 0/ 1 < 0,02 0/ < 0,02 0/ 1
v7v (mg,/1)
EEWESIZ "t (mg,/1)
il (mg./'1)
B (RARE) = (mg,/1)
~ A (TEARE) (mg,/1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)

Z OfhIEH AV b CEERRY Lok (ng,/'1)
TOCH (mg,/ 1)
8 (BE) 5 1~ 6] 3/ 4 5 1~ 9| 4/ 3 1~ 9|11/ 12
RURY (ms/m) 14 10 ~ 18] 4/ 4 21 12 ~ 33| 4/ 11 6.0 ~ 18|12/ 12
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (fi5,/100m1) 1500 1100 ~ 1800 2/ 2
A 4o FETG AL (ng,/1)
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[ES BT T AN S5
HIEHLT KB () o (AA) BRY N (AA)

HEE H HETE SfE) S N~ T KA n/n E25] S/ N~ KA n/n 23] S/ NME~ KA n/n
p H 7.6 7.0 ~ 8.9 1/ 24 7.4 7.3 ~ 7.6 0/ 7.5 7.2 ~ 7.8] 0/
DO (mg,1) 10 8.0 ~ 13[ 0/ 24 11 9.2 ~ 14| o/ 9.8 8.3 ~ 1] 0/
BOD (mg,1) 1.7 0.5 ~ 4.5 0/ 24 0.5 0.5 ~ 0.5 0/ 0.6 < 0.5 ~ 0.9] 0/
BOD (F Be: 75%i0) 2.6 < 0.5 < 0.5
COD (mg,1) 3.2 L7~ 6.0 0/ 12 0.8 0.5 ~ 1] 0/ 1.1 0.5 ~ 1.3] 0/

AEERSIEA (D [s's (mg,/1) 6 1~ 33] 0/ 24| < 1 < 1 0/ < 1 < 1 0/
Ry B A (MPN,/100m1) 8. 2E02 7.9E01 ~ 2.4E03[ 4/ 1. 2E02 4.5E00 ~ 1.1E03[ 3/
n —~F A R (mg,/'1) ND 0/ 4
LIk (mg,/1) 2.3 1.1~ 41127 12 0. 41 0.09 ~ 0.72| 2/ 0. 27 0.20 ~ 0.33] 4/
Lo (mg,/1) 0.11 0.048 ~ 0.27[12/ 12 0. 006 2/ 0.005) < 0.003 ~ 0.006| 3/
X (mg,1) 0. 025 0.002 ~ 0.082[ 0/ 12
RS (mg//1)| < 0.001 < 0.001 0/ 2
BTV (mg,/1) ND ND 0/ 2
k) (mg/1)| < 0.005 < 0.005 0/ 2
Al 2 7 g/ 1| < 004 < 0.04 0/ 2
3 (mg/1)| < 0.005 < 0.005 0/ 6
#ek g (mg/1)| < 0.0005 <0. 0005 0/ 2
T X LK (mg,/1)

PCB (mg,/1) ND ND 0/ 1
Crma iy (mg/1)| < 0.002 < 0.002 0/ 2
Ju i {k (mg/1)| < 0.0002 <0. 0002 0/ 2
1, 2 (mg/1)| < 0.0004 <0.0004 0/ 2
1, 1-Y/apxFLy (mg/ 1| < 0.002 < 0.002 0/ 2
YA—1, 2—Y/uRxFLr (mg/1)| < 0.004 < 0.004 0/ 2
e 1, 1, 1—hkYrppxiy (mg,/1) | < 0.0005 <0.0005 0/ 2
1, 1, 2—hYsmmxyr (mg,/1)| < 0.0006 <0. 0006 0/ 2
M) ZpaxFLo (ng/1)| < 0.002 < 0.002 0/ 2
FhIrmBIFL L (mg//1) | < 0.0005 <€0. 0005 0/ 2
1, 3—Yrunrusy (mg/1) | < 0.0002 <0. 0002 0/ 2
FUI A (mg/1) | < 0.0006 <€0. 0006 0/ 2
Pt (mg/1) | < 0.0003 <€0.0003 0/ 2
FANLHNT (mg/ 1| < 0.002 < 0.002 0/ 2
R (ng,/1) [ < 0.001 < 0.001 0/ 2
Ly (mg,/1)| < 0.002 < 0.002 0/ 2
T A 28 S % OV R A 28 R (mg,/1) 1.4 1.0 ~ 2.5 0/ 4
R 5 S (mg,/'1) 0. 035 0.006 ~ 0.10[ 4/ 4
(ng/1) | < 0.1 <01 0/ 4
(mg/1) 0. 02 0.02 ~ 0.02[ 0/ 4
1, 4—VFFH (mg,/1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/'1)
R AT LT R (mg,/ 1)
Jma kLA (mg,/'1)
FILURA—1, 2—VsppFL (mg/1)
1, 2-YrmrurrrAy (mg,/1)
p—YrmRR Yy (mg/1)
A Y FHF L (mg/1)
ATV (mg,/1)
Z7x=hueFir (MEP) (mg./'1)
Ay TaFtT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
suji=tr7=xr (CNP) * (mg./'1)
bz (mg/1)
¥y (mg,/'1)
TN T F L~F L (mg,/ 1)
= bk (mg./'1)
(mg./'1)
TUFEL (mg,/1)
ke =LE ) ~v— (mg,/1)
TEsmRE RY Y (ng/1)
Ky (mg,/1)
v7v (mg,/1)
7 x ) — )V (mg,/ 1) < 0.01 0/ 4
il (mg,/ 1) < 0,01 0/ 4
B (ARtE) * (mg,/1) 0. 05 0.03 ~ 0.08[ 4/ 4
~ A (TEARE) (ng,/'1) < 0.02 0/ 4
VA=FN (mg,/1) < 0.02 0/ 4
T =T HEEHR (mg./'1)
AT S Fx (mg./'1)
ZOfIEH A b CEERRY Lo (mg./'1)
TOC* (mg,/1)
8 (BE) 9 1~ 19] 22/ 24 < 1 0/
RURY (ms/m) 7.7 5.4 ~ 1| 47/ 3.6 2.9 ~ 1.0[ 4/
ClAFr* (mg./'1)
JHB7 4l ax% (ng/l) 1 2/
S AT R B R R (fi5,/100m1) 2700 1300 ~ 5900 4/ 4
A A BT A (mg,/1)
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[ES S5 )11 A1
HE A [RBUT A AT [ BT £ 5 il (AA) N (AA)

s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n 25 S/ NME~ KA m/n
p H 7.5 7.3 ~ 7.6[ 0/ 4 7.3 7.0 ~ 7.6] 0/ 4 7.2 7.0 ~ 7.6] 0/
DO (mg,1) 11 9.0 ~ 13 o/ 4 11 9.1~ 15 0/ 4 11 8.9 ~ 14| 0/
BOD (mg,1) 0.6 < 0.5 ~ 0.7 0/ 4 0.5] < 0.5 ~ 0.5] 0/ 4 0.5 0.5 ~ 0.6 0/
BOD (F Be: 75%i0) 0.5 < 0.5 < 0.5
COD (mg,1) 1.4 11~ 1.9] 0/ 4 11 < 0.5 ~ 16| 0/ 4 1.3 0.5 ~ 19| 0/

AEERSIEA (D [s's (mg,/1) 2| < 1~ 3] 0/ 4 2| < 1~ 4 0/ 4 1 1~ 1| o/
Ry B A (MPN,/100m1) 8. 9E03 1. TE02 ~ L7E04| 4/ 4 3. 4E03 3.3E01 ~ 1.3E04[ 3/ 4 1. 1E03 2. 4E02 ~ 3.3E03| 4/
n —~F A R (mg,/1)

LIk (mg,/1) 0.61 0.29 ~ 0.92) 2/ 2 0. 65 0.59 ~ 0.70f 2/ 2 0.54 0.36 ~ 0.72) 2/

B (mg,/1) 0.018 0.008 ~ 0.028] 2/ 2 0. 009 0.008 ~ 0.010| 2/ 2 0. 006 0.003 ~ 0.008[ 2/
ity (mg,/1)
HEITA (mg,/1)
EYT v (mg,/'1)
k) (mg,/'1)
I PA=FS (mg,/1)
ft# (mg,/1)
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)
= (mg,/1)
3 (mg,/'1)
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hVZmu=g (mg,/1)
M) ZmpxFLyo (mg,/1)
FhrIrsmBREFLY (mg,/1)
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)
ERES (mg,/'1)
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)

LN (mg./1) < 0,02 0/ 1 < 0,02 0/ 1 < 0,02 0/

V5 (mg./1) <0.0002 0/ 1 <0. 0002 0/ 1 <€0. 0002 0/
EEWESIZ "t (mg,/1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z O H ER AN (mg,/1)
Sk (mg./'1)

(BE) 1] < 1~ 1| 1/ 4 2| < 1~ 2| 2/ 4 3 1~ 5[ 27/

TERUR I R (ms/m) 4.5 3.4 ~ 500 4/ 4 4.3 2.7 ~ 6.5| 4/ 4 4.0 2.8 ~ 6.0| 4/
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (f#,/100m1)
A A BT A (mg,/1)
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Wl% [RERITER R R R R
T HA (AA) .2 G () Bl ()
s E HGENT S N~ T KA m/n 25 S/ N~ KA n/n 25 S/ NME~ KA m/n
p H 7.4 7.1~ 7.9[ 0/ 12 7.3 7.0 ~ 7.8 0/ 12 7.6 7.2 ~ s.2[ 0/ 12
DO (mg/1) 11 8.2 ~ 15 0/ 12 11 9.4 ~ 15| 0/ 12 11 9.3 ~ 13] 0/ 12
BOD (mg,1) 0.5] < 0.5 ~ 0.6] 0/ 12 0.6 0.5 ~ 4] 0/ 12 0.5 < 0.5 ~ 0.8] 0/ 12
BOD (F Be: 75%i0) 0.5 0.5 0.5
COD (mg/1) 0.8] < 0.5 ~ 16f 0/ 12 1.1 0.5 ~ 2.9 0/ 12 1.of < 0.5 ~ 13[ 0/ 12
AEERSIEA (D [s's (mg,/1) 1 < 1~ 2] 0/ 12 2 1~ 51 0/ 12 1f < 1~ 2l 0/ 12
Ry B A (MPN,/100m1) 2. 9E03 1. 4E02 ~ 17E04[ 12/ 12 2. 3E03 1. 3E02 ~ 11E04| 6/ 12 2. 9E03 1. 3802 ~ 7.9£03| 8/ 12
0~ E Y (wg/"D) ND 0r 4
LIk (mg,/1) 0. 35 0.30 ~ 0.39[ 2/ 2 0.51 0.47 ~ 0.54) 2/ 2 0. 42 0.32 ~ 0.72| 12/ 12
B (mg,/1) 0.021 0.013 ~ 0.028] 2/ 2 0.019 0.013 ~ 0.024] 2/ 2 0.014 0.009 ~ 0.020[12/ 12
2T (mg/1)| < 0.001 <0.001 0/ 2[< o.001 < 0.001 0/ 1 0. 004 0.002 ~ 0.007| 0/ 12
PR (mg/1)| < 0.001 < 0.001 0/ 1 < 0.001 < 0.001 0/ 2
BT v (mg,/1) ND ND 0/ 1 ND ND 0/ 2
k) (mg/1)| < 0.005 < 0.005 0/ 1 < 0.005 < 0.005 0/ 12
Al | L (mg/ )| < 0.04 < 0.04 0/ 1 < 0.04 < 0.04 0/ 2
=S (mg,/1) < 0.005 < 0.005 0/ 12
KRR (mg,/1) | < 0.0005 <0. 0005 0/ 1 < 0.0005 <0. 0005 0/ 2
TV F VKSR (mg,/'1)
(mg,/1) ND ND 0/ 1 ND ND 0/ 1
(mg,/1) < 0.002 < 0.002 0/ 2
(mg/1) | < 0.0002 <€0. 0002 0/ 1 < 0.0002 <€0. 0002 0/ 2
(mg,/1) < 0.0004 <€0. 0004 0/ 2
1, 1-YrapxFlLy (mg,/1) < 0.002 < 0.002 0/ 2
VA—1, 2—Y/uRnTFLv (mg,/1) < 0.004 < 0.004 0/ 2
fo— 1, 1, 1-hYsumxyy (mg,/1) | < 0.0005 <0. 0005 0/ 1 < 0.0005 <0.0005 0/ 2
1, 1, 2—hVZmppzgy (mg//1) | < 0.0006 <€0. 0006 0/ 1 < 0.0006 <€0. 0006 0/ 2
M) ZpaxFLo (ng/1)| < 0.002 < 0.002 0/ 1 < 0.002 < 0.002 0/ 2
FhIsmpTFLL (mg/1) | < 0.0005 <0. 0005 0/ 1 < 0.0005 <0.0005 0/ 2
1, 3—Ysmruru~y (mg/1) | < 0.0002 <€0. 0002 0/ 1 < 0.0002 <€0. 0002 0/ 2
FUT A (mg,/'1) < 0.0006 <€0. 0006 0/ 2
Yy (mg.,/'1) < 0.0003 <0.0003 0/ 2
FARXUHNT (mg,/1) < 0.002 < 0.002 0/ 2
R (mg/1) < 0.001 < 0.001 0/ 2
Ly (mg,/'1) < 0.002 < 0.002 0/ 2
T A 28 S % OV R A 28 R (mg,/1) 0.31 0.20 ~ 0.41[ 0/ 4
LA R 2 (mg,/1) 0.006| < 0.002 ~ 0.010] 3/ 4
5o (mg,/1) < 0.1 <01 0/ 4
135 # (ng/1) | < 0. 02 < 0.02 0/ 1 <002 < 0.02 0/ 2
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
Forz2—1, 2-YZppxFLr (mg./'1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
7x=hnFir (MEP) (mg/1)
AV TaFHT (mg/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 fDDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
suji=tr7=xr (CNP) * (mg/1) <€0. 0005 0/ 2
INDES (mg,/1)
FrLy (mg/1)
THNBEYTF L ~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
Hihe=1%/)~v— (mg,/1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
7 = ) — Kk (mg/1) < 0.01 0/ 4
% (mg,/1) < 0.01 0/ 4
B (ARtE) * (mg,/1) 0.03] < 0.02~ 0.04[ 3/ 4
~ v (GREE) * (mg./'1) < 0.02 0/ 4
71 bk (mg,/1) < 0.02 0/ 4
T U E =T Hx (mg,/1) < 0.05 0/ 12
DATHEE S R (mg,/1)
Z O H (mg,/1) 0.013 0.009 ~ 0.017| 4/ 4
(mg,/1) 1.0] < 0.5 ~ 2.0 7/ 12
(BE) 1] < 1~ 2| 3/ 12 2 1~ 3| 4/ 12 1| < 1~ 1| 3/ 12
(ms/m) 5.6 3.8 ~ 8.6|12/ 12 5.9 4.0 ~ 8.8|12/ 12
ClAArx* (mg,/ 1) 3 2~ 4 4/ 4
Jman7 4l ax (ug/l)
S AT R B R R (15,7 100m1) 220 160 ~ 270 2/ 2 120 60 ~ 170 2/ 2 77 2 ~ 250| 12/ 12
A A R IR A (ng,/1)
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HEEH I EfE S5 S /M~ Ji KA m/n B2 S /M~ Ji KA n/n B2 S/ IMIF A~ Ji KA w/n
pH 7.5 7.3 ~ 7.9] 0/ 12 7.5 7.3 ~ 7.7l 0/ 4 7.5 7.3 ~ 7.7] 0/ 12
DO (mg/1) 10 8.8 ~ 13 0/ 12 9.8 8.1~ 12| 0/ 4 10 8.9 ~ 12| 0/ 12
BOD (mg/1) 0.8 0.5 ~ 1.3[ 0/ 12 0.6 0.5 ~ 0.9] 0/ 4 0.8] < 0.5 ~ 15[ 0/ 12
BOD (F Be: 75%i0) 1.1 0.5 1.0
coD (mg/1) 1.1 0.8 ~ 150 0/ 12 1.5 0.8 ~ 2.2 0/ 4 1.2 0.7 ~ 18| 0/ 12

AEERSIEA (D [s's (mg,/1) 2 1~ 51 0/ 12 2 1~ 3 0/ 4 2| < 1~ 5] 0/ 12
Ry B A (MPN,/100m1) 3. 6E03 2. 1E02 ~ 1L6E04[ 7/ 12 3. 5E04 3.3E02 ~ 1.3E05) 3/ 4 3. 3E03 1. 3802 ~ 11E04[ 8/ 12
n —~F Al T (mg,/1)

A Hx (mg,/'1) 0.52 0.42 ~ 0.61] 4/ 4
Lk (mg,/1) 0.023 0.021 ~ 0.025 4/ 4
X (mg,1) 0.007 0.003 ~ 0.010| 0/ 4
RS (mg,/1) < 0.001 < 0.001 0/ 4
BTV (mg,/1)
§h (mg/ 1| < 0.005 < 0.005 0/ 1[< o0.005 < 0.005 0/ 4| < 0.005 < 0.005 0/ 1
I PA=FS (mg,/1)
=3 (mg/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 4] < 0.005 < 0.005 0/ 2
KRKER (mg,/1)
T X LK (mg,/1)
PCB (mg,/'1)
vrun Ay (ng/1)| < 0.002 < 0.002 0/ 2 < 0.002 < 0.002 0/ 2
Ju i {k (mg/1) | < 0.0002 <€0. 0002 0/ 2 < 0.0002 <€0. 0002 0/ 2
1, 2 (mg,/1)| < 0.0004 <0.0004 0/ 2 < 0.0004 <0.0004 0/ 2
1, 1-Ys/mpxFLy (mg/1)| < 0.002 < 0.002 0/ 2 < 0,002 < 0.002 0/ 2
vA—1, 2—Y/upzFLo (mg/1)| < 0.004 < 0.004 0/ 2 < 0.004 < 0.004 0/ 2
fo— 1, 1, 1-hYsumxyy (mg/1) | < 0.0005 <0. 0005 0/ 2 < 0.0005 <0.0005 0/ 2
1, 1, 2—hVZmppzgy (mg//1) | < 0.0006 <€0. 0006 0/ 2 < 0.0006 <€0. 0006 0/ 2
M) ZpaxFLo (mg,/1)| < 0.002 < 0.002 0/ 2 < 0.002 < 0.002 0/ 2
FhIrmBIFL L (mg//1) | < 0.0005 <€0. 0005 0/ 2 < 0.0005 <€0. 0005 0/ 2
1, 3—Yrunrusy (mg/1) | < 0.0002 <0. 0002 0/ 2
FUI A (mg/1) | < 0.0006 <€0. 0006 0/ 2
Pt (mg/1) | < 0.0003 <€0.0003 0/ 2
FARXUHNT (ng/1)| < 0.002 < 0.002 0/ 2
NPy (mg,/1)| < 0.001 < 0.001 0/ 2
Ly (mg/1)| < 0.002 < 0.002 0/ 2
R %8 3R e OV R 28 3 (mg,/1) 0. 38 0.37 ~ 0.38] 0/ 2
R 5 S (mg,/'1) 0.010 0.006 ~ 0.014f 2/ 2
(ng/1) | < 0.1 <01 0/ 2
(mg/ 1| < 002 < 0.02 0/ 2
1, 4—VFFH (mg,/'1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
Jma kLA (mg,/'1)
FFv2—1, 2—Y/mppxFlL (mg,/1)
1, 2—=Y7murruy (mg,/1)
p—YrmRR Yy (mg/1)
AV FYFF (mg./'1)
ATV (mg,/1)
Zx=btrFFr (MEP) (mg./'1)
AV TaFHT (mg/1)
A 8 () (mg,/1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg/1)
R D nwﬁ%’x fDDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
sal=fr7xy (CNP) * (mg./'1)
bz (mg/1)
FrLy (mg/1)
THNEED T ~F L (mg./'1)
= bk (mg./'1)
(mg./'1)
TUFEL (mg,/1)
ke =LE ) ~v— (mg,/1)
TEsmRE RY Y (ng/1)
Ky (mg,/1)
v7v (mg,/1)
Tz ) — V% (mg,/ 1)
il (mg./'1)
B (RARE) = (mg,/1)
~ v (GREE) * (mg./'1)
7\ h (mg./'1)
T =T HEEHR (mg,/1) 0. 05 0.05 ~ 0.05| 1/ 4
AT R 5 (mg,/1)
ZOfIEH A b CEERRY Lo (mg./'1)
TOCH (mg,/1)
8 (BE) 2 1~ 3] 5/ 12 2 1~ 3| 3/ 4 2| < 1~ 4] 9/ 12
RURY (ms/m) 6.8 4.4 ~ 9.5[12/ 12 8.2 5.2 ~ 12|12/ 12
C 1A Frx (mg.,/'1) 3 2~ AR
Jman7 4l ax (ug/l)
S AT R B R R (fi5,/100m1) 380 91 ~ 860| 4/ 1 60 3~ 160[ 6/ 6
B A A o i I A (mg./'1)
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HE RS [REKH (DY) e KK () RPN ()
HEE H HETE SfE) S N~ T KA n/n E25] S/ N~ KA n/n 23] S/ NME~ KA n/n
p H 7.5 7.2 ~ 8.6 1/ 12 7.2 6.9 ~ 7.6] 0/ 12 7.3 7.0 ~ 8.0[ 0/ 24
DO (mg,1) 10 8.9 ~ 12| 0/ 12 9.5 8.0 ~ 12| 0/ 12 9.8 8.1 ~ 13] 0/ 24
BOD (mg/1) 0.7] < 0.5 ~ 14f 0/ 12 0.7] < 0.5 ~ 0.9] 0/ 12 0.7 < 0.5 ~ 21| 1/ 24
BOD (T B 75%1) 0.8 0.8 0.7
COD (mg,1) 1.3 1.0~ 17| 0/ 12 1.7 1.2 ~ 2.1[ 0/ 12 2.0 1.2 ~ 3.2[ 0/ 12
AEERSIEA (D [s's (mg,/1) 2| < 1~ 4] 0/ 12 2| < 1~ 6] 0/ 12 2| < 1~ 6] 0/ 24
Ry B A (MPN,/100m1) 8. 8E03 2. 0E01 ~ 9.2E04| 6/ 12 1. 8E04 4, 9E02 ~ 3.5804| 3/ 4 1. 4E04 1. 1803 ~ 3.3E04| 4/ 4
0 —~F Y T (mg/1) ND 0/ 4
LIk (mg,/1) 0.76 0.59 ~ 1.0]12/ 12 0.90 0.73 ~ 1.2|12/ 12 0.95 0.73 ~ 1312/ 12
B (mg,/1) 0. 031 0.020 ~ 0.042| 12/ 12 0. 046 0.032 ~ 0.070] 12/ 12 0. 052 0.035 ~ 0.082[12/ 12
g (mg,1) 0.014 0.003 ~ 0.034] 0/ 12 0. 003 0.002 ~ 0.004] 0/ 4 0. 003 0.002 ~ 0.004[ 0/ 3
RS (mg//1)| < 0.001 < 0.001 0/ 4
LTV (mg,/'1) ND ND 0/ 4
k) (mg/1)| < 0.005 < 0.005 0/ 12 < 0.005 < 0.005 0/ 4
Al 7 2 (mg/ D] < 0.04 < 0.04 0/ 4
3 (mg/1)| < 0.005 < 0.005 0/ 12[ < 0.005 < 0.005 0/ 4f < 0.005 < 0.005 0/ 4
KRR (mg/1)| < 0.0005 <0. 0005 0/ 4
T X LK (mg,/1)
(mg,/'1) ND ND 0/ 1
(ng/1)| < 0.002 < 0.002 0/ 2
(mg/1)| < 0.0002 <0. 0002 0/ 2
(ng/1)| < 0.0004 <€0. 0004 0/ 2
1, 1-Y/apxFLy (mg/ 1| < 0.002 < 0.002 0/ 2
YA—1, 2—Y/uRxFLr (mg/ 1| < 0.004 < 0.004 0/ 2
fo— 1, 1, 1-hYsumxyy (mg/1)| < 0.0005 <0. 0005 0/ 2
1, 1, 2—hYsmmxyr (mg,/1)| < 0.0006 <0. 0006 0/ 2
M) ZpaxFLo (ng/1)| < 0.002 < 0.002 0/ 2
FhIrmBIFL L (mg,/1) | < 0.0005 <€0. 0005 0/ 2
1, 3—Yrunrusy (mg/1) | < 0.0002 <0. 0002 0/ 2
FUI A (mg/1) | < 0.0006 <€0. 0006 0/ 2
P (mg,/1) | < 0.0003 <€0.0003 0/ 2
FARXUHNT (ng/1)| < 0.002 < 0.002 0/ 2
e (mg,/1)| < 0.001 < 0.001 0/ 2
Ly (mg/1)| < 0.002 < 0.002 0/ 2
R %8 3R e OV R 28 3 (mg,/1) 0. 59 0.45 ~ 0.75| 0/ 4
R 5 S (mg,/1) 0.020 < 0.002 ~ 0.026[ 3/ 4 0. 030 0.012 ~ 0.049]| 12/ 12
SR (ng/1) | < 0.1 <01 0/ 4
139 # (mg,/1) 0.02| < 0.02 ~ 0.02] 0/ 4
1, 4—VFFH (mg,/'1)
LR (ng/1)| < 0.006 < 0.006 0/ 2
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
V=T (mg,/'1) < 0.006 0/ 2
FFv2—1, 2—-YZmRTF L (mg,/1) < 0.004 0/ 2
1, 2—=YrmrrrnNy (mg,/1) < 0.006 0/ 2
p—Yrmru Yy (mg/1) < 0.03 0/ 2
AV FYFA (mg,/1) <€0. 0008 0/ 2
HAT V) (mg/1) <0. 0005 0/ 2
7x=hnFir (MEP) (mg,/1) <€0.0003 0/ 2
AV TuFFT (mg,/1) < 0.004 0/ 2
A (AR (mg,/1) < 0.004 0/ 2
smrrgr=,\ (TPN) (mg,/1) < 0.004 0/ 2
FHEFI R (mg,/1) <0.0008 0/ 2
EPN (mg,/'1) <0.0006 0/ 2
R \\/\‘71:1/@%7 fDDVP) (mg/1) < 0.001 0/ 2
7=/ 7HAL7 (BPMC) (mg/1) < 0.002 0/ 2
A4 7u_rkA (IBP) (mg,/1) <0. 0008 0/ 2
smri=tr7xr (CNP) * (mg,/1) <0. 0005 0/ 2
[\ (mg,/1) < 0.06 0/ 2
FrLy (mg,/1) < 0.04 0/ 2
TENBSTFL~F I (mg,/1) < 0.006 0o/ 2
= v (mg,/1) 0.001| < 0.001 ~ 0.001| 1/ 2
) TF (mg.,/'1) < 0.007 0/ 2
TUFEY (mg./1) <0. 0002 0/ 2
ke =LE ) ~v— (mg,/1)
TEsmRE RY Y (ng/1)
Ky (mg,/1)
v7v (mg,/1)
eVt (mg,/1) < 0.01 0/ 4
il (mg,/ 1) < 0,01 0/ 4
B (ARtE) * (mg,/1) 0. 06 0.02 ~ 0.13[ 4/ 4
~ A (TEARE) (ng,/'1) < 0.02 0/ 4
s\ bk (mg,/1) < 0.02 0/ 4
T v =T R R (mg,/1) 0.08| < 0.05 ~ 0.08f 2/ 4 0.11f < 0.05 ~ 0.13[ 2/ 4 0.12) < 0.05 ~ 0.24] 10/ 12
DATHEE S R (mg,/1)
Z ORI H (mg,/1) 0. 023 0.021 ~ 0.027| 4/ 4 0. 037 0.024 ~ 0.069[ 12/ 12
(mg,/1) 1.2 < 0.5 ~ 2.8 8/ 12 0.7 0.5 ~ 1.of12/ 12 0.8 0.6 ~ 1L1]12/ 12
(BE) 1] < 1~ 2| 7/ 12 1] < 1~ 2| 6/ 12 2| < 1~ 4[16/ 24
(ms/m)
C1AAr# (mg,/1) 4 2~ 10f12/ 12 5 3~ 1012/ 12 5 3~ 9|12/ 12
JBBET f)Lax (ng/l) 2| < 1~ 4 57 12 2| < 1~ 5[ 3/ 12 1| < 1~ 14| 5/ 12
S AT R B R R (15,7 100m1) 69 24 ~ 130f 4/ 4 140( < 2~ 1600| 3/ 4 260 4~ 510 4/ 1
B A A o i I A (mg./'1)
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HE R [N EFE (AA) G (AN) K (0
s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n 25 Ji /M~ TR KA m/n

p H 7.5 7.4~ 7.7 0/ 4 7.5 7.3 ~ 7.9 0/ 8.0 7.6 ~ 8.4 o/

DO (mg,1) 11 9.9 ~ 13 o/ 4 11 9.5 ~ 13 0/ 10 7.9 ~ 13| 0/

BOD (mg,/ 1| < 0.5 < 0.5 0/ 4 0.6 0.5 ~ 0.7] 0/ 0.6 0.5 ~ 0.7 0/

BOD (FBe:75%fi0) | < 0.5 < 0.5 0.5

COD (mg,1) 0.6] < 0.5 ~ 0.9[ 0/ 4 1.0 0.5 ~ 1.4] 0/ 1.0 0.5 ~ 17| 0/

AEERSIEA (D [s's (g 1) | < 1 < 1 0/ 4 1 1~ 1| o/ 1 1~ 1| o/

Ry B A (MPN,/100m1) 9. 0E03 7.9E01 ~ 3.5E04| 4/ 4 2. TE03 3.3E02 ~ 9.5E03| 4/ 8. 3E02 2. 4E02 ~ 1.3E03[ 2/
n —~F A R (mg,/1)

LIk (mg,/1) 0. 39 0.33 ~ 0.45) 2/ 2 0.24 0.18 ~ 0.30| 2/ 0.45 0.39 ~ 0.51| 2/

B (mg,/1) 0. 023 0.015 ~ 0.031] 2/ 2 0.010 0.005 ~ 0.015| 2/ 0.019 0.014 ~ 0.024| 2/
ity (mg,/1)
HEITA (mg,/1)
EYT v (mg,/'1)
k) (mg,/'1)
I PA=FS (mg,/1)
ft# (mg,/1)
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)
= (mg,/1)
3 (mg,/'1)
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hVZmu=g (mg,/1)
M) ZmpxFLyo (mg,/1)
FhrIrsmBREFLY (mg,/1)
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)
ERES (mg,/'1)
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
4 F U8 (FR) (mg,'1)
smrZrn=/, (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
EEWESIZ "t (mg,/1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z O H ER AN (mg,/1)
Sk (mg./'1)

() < 1 0/ 4 < 0/ < 1 0/

TERUR I R (ms/m) 5.7 4.9 ~ 6.5 4/ 4 5.6 5.0 ~ 6.3] 4/ 12 11~ 13| 4/
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (f#,/100m1)
A A BT A (mg,/1)




SRR 224F BE

KB

S EES

[ES HARI )| [0
HE A [BE [} [ [S) AT
HEE H HETE SfE) S N~ T KA n/n E25] S/ N~ KA n/n 23] i/ NME~ K] n/n
p H 7.3 7.1~ 7.6[ 0/ 4 7.3 7.0 ~ 7.70 0/ 12 7.6 6.9 ~ 8.5 0/ 12
DO (mg/1) 11 10 ~ 13l 0/ 4 10 8.2 ~ 13] 0/ 12 11 8.2 ~ 14| 0/ 12
BOD (mg,1) 0.7 0.5 ~ 0.9] 0/ 4 1.0 0.5 ~ 18] 0/ 12 0.7 0.5 ~ 16| 0/ 12
BOD (T B 75%1) 0.9 1.4 0.5
COD (mg/1) 1.8 0.7 ~ 2.5 0/ 4 3.1 1.7~ 6.7 0/ 12 2.2 1.3 ~ 6.2[ 0/ 12
AEERSIEA (D [s's (mg,/1) 2 1~ 3] 0/ 4 5 1~ 27| 0/ 12 8 1~ 68 0/ 12
KI5 BB (MPN,/100m1) 4. 2E03 2. 3802 ~ 79803 2/ 4
n —~F A R (mg,/1)
LIk (mg,/1) 11 1.0~ L2 2/ 2
A (mg,/'1) 0. 090 0.084 ~ 0.095| 2/ 2
ity (mg,/1)
RS (mg//1)| < 0.001 < 0.001 0/ 1
LTV (mg,/'1) ND ND 0/ 1
k) (mg/1)| < 0.005 < 0.005 0/ 1| < 0.005 < 0.005 0/ 1| < 0.005 < 0.005 0/ 1
Al 2 7 (mg/ )| < 0.04 < 0.04 0/ 1
=3 (mg,/1) < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
#ek g (mg/1)| < 0.0005 <0. 0005 0/ 1
TV F VKSR (mg,/'1)
PCB (mg,/'1)
= (mg,/1)
3 (mg/1)| < 0.0002 <0. 0002 0/ 1
V= A (mg,/1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
e 1, 1, 1—hkYrppxiy (mg,/1) | < 0.0005 <0.0005 0/ 1
1, 1, 2—hYsmmxyr (mg,/1)| < 0.0006 <0. 0006 0/ 1
M) ZpaxFLo (ng/1)| < 0.002 < 0.002 0/ 2
FhIrmBIFL L (mg//1) | < 0.0005 <€0. 0005 0/ 1
1, 3—Yrunrusy (mg/1) | < 0.0002 <0. 0002 0/ 1
FUT A (mg,/'1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/'1)
o (mg,/'1)
139 # (ng/1) | < 0. 02 < 0.02 0/ 1
1, A= VFF P (mg,/1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
R AT LT R (mg,/ 1)
Jma kLA (mg,/'1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7mrr7r/Ny (mg,/1)
p—YrmRR Yy (mg/1)
A Y FHF L (mg/1)
ATV (mg,/1)
Z7x=tuFF (MEP) (mg./'1)
A TaFFT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
suji=tr7=xr (CNP) * (mg./'1)
bz (mg/1)
¥y (mg,/'1)
TN T F L~F L (mg,/ 1)
= b (mg./'1) < 0.001 0/ 1
€Y TT (mg,/1)
TUFEY (mg./1) <0. 0002 0/ 1
ke =LE ) ~v— (mg,/ 1)
TEsmRE RY Y (ng/1)
Ky (mg,/1)
v7v (mg,/1)
Tz ) — V% (mg,/ 1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
VAP (mg,/1)
T =T HEEHR (mg./'1)
AT S Fx (mg./'1)
Z ORI H A Y R (mg./'1)
Sk (mg./'1)
(BE) 2 1~ 5] 3/ 4
TERUR I R (ms/m) 11 7.9 ~ 17 4/ 4 13 8.2 ~ 19[12/ 12 8.1 6.7 ~ 9.8|12/ 12
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (f#,/100m1)
A A BT A (mg,/1)




TR

AR e

S

W% |OTE B B P B R Eik RN
RS B [ RIS () [ (©)
i E B HETE SEH) S N~ T KA n/n fE5] S/ N~ KA n/n 25 S/ NME~ KA n/n
p H 7.1 6.8 ~ 7.3[ 0/ 12 7.0 6.9 ~ 7.2[ 0/ 12 7.1 6.9 ~ 7.6] 0/ 24
DO (mg/1) 10 9.4 ~ 12| 0/ 12 8.6 6.0 ~ 10| 2/ 12 10 6.8 ~ 12| 0/ 24
BOD (mg,1) 0.6 < ol 0/ 12 0.9] < 0.5 ~ 19| 0/ 12 1.3] < 0.5 ~ 2.7] 0/ 24
BOD (T B 75%1) 0.7 1.0 1.5
COD (mg,1) 1.1 0.5 ~ 17| 0/ 12 2.3 1.3 ~ 5.3 0/ 12 2.4 L7~ 3.6[ 0/ 12
AEERSIEA (D [s's (mg,/1) 2| < 1~ 51 0/ 12 7 1~ 19[ 0/ 12 5 1~ 16| 0/ 24
Ry B A (MPN,/100m1) 4. 2803 3.3E02 ~ 17604 10/ 12 1. 1E04 4.9E02 ~ 4.9804| 9/ 12
0~ E Y (wg/"D) ND 0r 4
LIk (mg,/1) 1.4 1.1~ 1.8|12/ 12 1.8 1.4~ 2.4|12/ 12
B (mg,/1) 0. 068 0.043 ~ 0.13[12/ 12 0. 087 0. 056 ~ 0.16]12/ 12
g (mg,/'1) 0. 009 0.002 ~ 0.024] 0/ 12 0. 008 0.005 ~ 0.017[ 0/ 12
AR A (mg,/1) < 0.001 <0.001 0/ 2| < 0.001 <0.001 0/ 2
LTV (mg,/1) ND ND 0/ 2 ND ND 0/ 12
§h (mg/ 1| < 0.005 < 0.005 0/ 4f < 0.005 < 0.005 0/ 6[< 0.005 < 0.005 0/ 6
Al | L (mg,/1) < 0,04 < 0.04 0/ 2[< o004 < 0.04 0/ 2
=3 (mg/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 6] < 0.005 < 0.005 0/ 6
KK R (mg,/1) < 0.0005 <0.0005 0/ 2| < 0.0005 <0. 0005 0/ 2
TV F VKSR (mg,/'1)
(mg,/'1) ND ND 0/ 1 ND ND 0/ 1
(mg,/'1) < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
(mg,/'1) < 0.0002 <0.0002 0/ 2[< 0.0002 <0.0002 0/ 2
(mg,/'1) < 0.0004 <0. 0004 0/ 2| < 0.0004 <0. 0004 0/ 2
1, 1-Y/apxFLy (mg,/'1) < 0,002 < 0.002 0/ 2[< o.002 < 0.002 0/ 2
YA—1, 2—Y/upxFLv (mg,/'1) < 0.004 < 0.004 0/ 2| < 0.004 < 0.004 0/ 2
fo— 1, 1, 1-hYsumxyy (mg,/'1) < 0.0005 <0.0005 0/ 2[< 0.0005 <0.0005 0/ 2
1, 1, 2—hYsmmxyr (mg/1) < 0.0006 <0. 0006 0/ 2[< 0.0006 <0.0006 0/ 2
WEEEES 2% (mg,/1) < 0.002 < 0.002 0/ 2[< o.002 < 0.002 0/ 2
FhIrmBIFL L (mg/1) < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 2
1, 3—Yrunrusy (mg,/1) < 0.0002 <€0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 2
FUT N (mg,/1) < 0.0006 <0. 0006 0/ 2| < 0.0006 <€0. 0006 0/ 2
Yy (mg,/1) < 0.0003 <0.0003 0/ 2[< 0.0003 <0.0003 0/ 2
FARXUHNT (mg,/1) < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
R (mg/1) < 0.001 < 0.001 0/ 2| < 0.001 < 0.001 0/ 2
Ly (mg,/1) < 0.002 < 0.002 0/ 2[< o.002 < 0.002 0/ 2
T A 28 S % OV R A 28 R (mg,/1) 1.2 0.88 ~ 1.4f 0/ 4 1.4 L1~ 18| 0/ 4
R 5 S (mg,/1) 0.013 0.007 ~ 0.027 4/ 4 0. 051 0.015 ~ 0.14] 4/ 4
o (mg,/'1) < 0.1 <01 0/ 4] < 0.1 <01 0/ 4
135 # (mg,/1) < 0. 02 < 0.02 0/ 2 0.02] < 0.02 ~ 0.03] 0/ 4
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
Forz2—1, 2-YZppxFLr (mg./'1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
7x=hnFir (MEP) (mg/1)
AV TaFHT (mg/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R D nwﬁ%’x fDDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
THNBEYTF L ~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
Hihe=1%/)~v— (mg,/1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
7 = ) — Kk (mg/1) < 0.01 0/ 4
% (mg,/1) < 0.01 0/ 4
k(AR = (mg./'1) 0.15 0.05 ~ 0.35( 4/ 4
~ A (TEARE) (mg,/1) 0.03[ < 0.02 ~ 0.03] 2/ 4
71 bk (mg,/1) < 0.02 0/ 4
T v =T R R (mg,/1) 0.12 < 0.05 ~ 0.17| 3/ 4 0.31] < 0.05 ~ 0.47| 2/ 4
DATHEE S R (mg,/1)
ZOhIE A (mg./'1)
(mg,/'1)
(BE) 1] < 1~ 2] 9/ 12 5 1~ 23]12/ 12 3] < 1~ 8[22/ 24
(ms/m) 6.3 5.6 ~ 7.5|12/ 12
C1AAr# (mg,/1) 4 3~ 5[ 4/ 4 7 6 ~ 8l 4/ 4
Jman7 4l ax (ug/l)
S AT R B R R (fi5,/100m1) 1100] < 2~ 3800| 3/ 4 1300 870 ~ 2100( 4/ 4
A A R IR A (ng,/1)




TR

AR e

S

[ES el KA1
I E HLAT (B) BHE BJIA Al (B) 5PN i [
HEEH I EfE S /M~ Ji KA m/n B2 S /M~ Ji KA n/n B2 S/ IMIF A~ Ji KA w/n
pH 4 7.1 ~ 7.8 0/ 12 7.2 6.9 ~ 7.4] 0/ 12 6.8 6.7 ~ 7.1] 0/
DO (mg/1) 10 8.7 ~ 12| 0/ 12 9.4 8.4 ~ 10| 0/ 12 10 9.5 ~ 12| 0/
BOD (mg/1) 1.9 0.6 ~ 3.6] 2/ 12 11 < 0.5 ~ 2.0l 0/ 12 0.6 < 0.5 ~ 0.9] 0/
BOD (F Be: 75%i0) 2.3 1.5 < 0.5
coD (mg/1) 2.9 1.6 ~ 1.7 0/ 12 2.2 1.0~ 3.4] 0/ 12 1.0 0.5 ~ 17| 0/
AEERSIEA (D [s's (mg,/1) 4 1~ 9] 0/ 12 4] < 1~ 10 0/ 12 1f < 1~ 1| 0/
Ry B A (MPN,/100m1) 1. 5604 1. TE03 ~ 3.5E04] 9/ 12 9. 9E03 1. 4E03 ~ 2.8E04| 6/ 12
n —~F Al T (mg,/1)
A Hx (mg,/'1) 1.4 1.0~ 2.0l 4/ 4
Lk (mg,/1) 0. 075 0.052 ~ 0.12| 4/ 4
] (mg,/'1) 0.011 0.007 ~ 0.014] 0/ 4
HEIT A (mg,/1)
LTV (mg,/1) ND ~ < 0.1 0o/ 2
i (mg,/'1) 0. 005 < 0.005 0/ 4] < 0.005 < 0.005 0/ 1
Al 2 7 (mg,/1) <004 < 0.04 0/ 2
=3 (mg,/1) 0. 005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)
vyna Ay (mg,/1) < 0.002 < 0.002 0/ 2
10 A (mg./1) < 0.0002 <0.0002 0/ 2
1, 2 (mg,/'1) < 0.0004 <0.0004 0/ 2
1, 1-Ys/mpxFLy (mg,/'1) < 0,002 < 0.002 0/ 2
vA—1, 2—Y/upzFLo (mg,/'1) < 0.004 < 0.004 0/ 2
e 1, 1, 1—hkYrppxiy (mg,/1) < 0.0005 <0.0005 0/ 2
1, 1, 2—hVZmppzgy (mg/1) < 0.0006 <€0. 0006 0/ 2
FYsmpTFLy (mg/1) < 0.002 < 0.002 0/ 2
FhIrmBIFL L (mg/1) < 0.0005 <€0. 0005 0/ 2
1, 3—Yrunrusy (mg,/1) < 0.0002 <0. 0002 0/ 2
FT A (mg/1) < 0.0006 <0. 0006 0/ 2
Pt (mg/1) < 0.0003 <€0.0003 0/ 2
FARXUHNT (mg,/1) < 0.002 < 0.002 0/ 2
R (mg/1) < 0.001 < 0.001 0/ 2
Ly (mg/1) < 0.002 < 0.002 0/ 2
R %8 3R e OV R 28 3 (mg,/1) 0.56 < 0.78 ~ L1f o/ 2
LA R 2 (mg,/1) 0.023 0.023 ~ < 0.026] 2/ 2
(mg/1) < 0.1 <01 0/ 2
(mg,/1) 0.02] < 0.02 ~ 0.02] 0/ 2
1, 4—VFFH (mg,/'1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
Jma kLA (mg,/'1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7mrr7r/Ny (mg,/1)
p—YrmRR Yy (mg/1)
A Y FHF L (mg/1)
ATV (mg,/1)
Z7x=hueFir (MEP) (mg./'1)
Ay TaFtT (mg,/1)
A 8 () (mg,/1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
suji=tr7=xr (CNP) * (mg./'1)
bz (mg/1)
FrLy (mg/1)
TN T F L~F L (mg,/ 1)
= bk (mg./'1)
(mg./'1)
TUFEL (mg,/1)
ke =LE ) ~v— (mg,/1)
TEsmRE RY Y (ng/1)
Ky (mg,/1)
v7v (mg,/1)
Tz ) — V% (mg,/ 1)
il (mg./'1)
B (RARE) = (mg,/1)
~ A (TEARE) (mg,/1)
7\ h (mg./'1)
T =T HEEHR (mg./'1)
AT S Fx (mg./'1)
ZOfIEH A b CEERRY Lo (mg./'1)
TOC* (mg,/1)
8 [ ()
RURY (ms/m) 13 7.6 ~ 1712/ 12 13 7.5 ~ 19|12/ 12 12 10 ~ 13| 6/
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (fi5,/100m1) 52 10 ~ 100] 6/ 6
A A S I A (mg./'1) 0. 06 0.03 ~ 0.08] 2/ 2 0. 03 0.02 ~ 0.03] 2/ 2 0.03[ < 0.02 ~ 0.03| 1/
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AR e

S

[ES IEAJ il W)
HE L [BYA BITA HeAl ) IR ) OF B RITA AT )

s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n 25 S/ NME~ KA m/n
p H 7.4 7.1~ 7.9[ 0/ 6 7.7 7.3 ~ 8.4 o/ 7.4 7.1~ 7.8] 0/
DO (mg,1) 8.1 4.9 ~ 12 0/ 6 10 8.5 ~ 12 o/ 11 9.3 ~ 13| 0/
BOD (mg,1) 0.7] < 0.5 ~ 1.3l 0/ 6 11 < 0.5 ~ 2.5] 0/ 0.9 < 0.5 ~ 15[ 0/
BOD (T B 75%1) 0.7 1.4 1.2
COD (mg,1) 2.3 0.8 ~ 3.6] 0/ 6 2.8 1.7~ 4.5 0/ 2.3 1.2 ~ 3.6[ 0/

AEERSIEA (D [s's (mg,/1) 4] < 1~ [ o/ 6 4 2~ 51 0/ 7| < 1~ 18[ 0/
KI5 BB (MPN,/100m1)
n —~F A R (mg,/1)
A Hx (mg,/1)
Sxfk (mg,/1)
ity (mg,/1)
HEITA (mg,/1)
EYT v (mg,/'1)
k) (mg,/'1)
I PA=TS (mg,/1) < 0,04 < 0.04 0/
ft# (mg,/1)
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)

= (mg,/1)
3 (mg,/'1)
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hVZmu=g (mg,/1)
M) ZmpxFLyo (mg,/1)
FhrIrsmBREFLY (mg,/1)
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
R (mg/1) < 0.001 < 0.001 0/
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)
ERES (mg,/'1)
1, 4—VFFH (mg,/'1)
V=T (mg,/1)

KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)

R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
EEWESIZ "t (mg,/1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z O H ER AN (mg,/1)
Sk (mg./'1)
(1)

TERUR I R (ms/m) 15 8.9 ~ 22[ 6/ 6 11 5.1~ 13| 6/ 11 9.9 ~ 12| 6/
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (f#,/100m1)

A A S I A (mg,/1) 0.03 < 0.02 ~ 0.03[ 1/ 2 0. 04 0.03 ~ 0.01] 2/ 0.02) < 0.02~ 0.02] 1/




TR

KB

S EES

[ES 1 i) 1| 581 L A
HE L [AIT& Al ) i (©) AUR G (©)
s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n 25 S/ NME~ KA m/n
p H 6.9 6.7 ~ 7.1 0/ 12 7.6 7.3 ~ 8.2[ 0/ 12 7.2 7.0 ~ 7.6] 0/ 12
DO (mg/1) 9.7 7.2 ~ 12| 0/ 12 11 9.2 ~ 13 0/ 12 8.5 7.7 ~ 9.6[ 0/ 12
BOD (mg,/ 1| < 0.5 < 0.5 0/ 12 11 < 0.5 ~ 2.4] 0/ 12 2.0 0.6 ~ 15[ 0/ 12
BOD (B 75%i) | < 0.5 1.6 2.2
COD (mg,1) 0.6] < 0.5 ~ 0.7] 0/ 12 2.3 11~ 1.7 0/ 12 5.3 2.9 ~ 8.2[ 0/ 12
AEERSIEA (D [s's (mg,/1) 1 < 1~ 1l o/ 12 4] < 1~ 7] 0/ 12 19 1 64 1/ 12
KI5 BB (MPN,/100m1)
n —~F A R (mg,/1)
A Hx (mg,/'1) 5.7 1.4~ 14| 4/ 4
Lk (mg,/1) 0. 29 0.14 ~ 0.46| 4/ 4
] (mg,/'1) 0. 025 0.013 ~ 0.031] 0/ 4
HEITA (mg,/1)
EYT v (mg,/'1)
§h (mg/ 1| < 0.005 < 0.005 0/ 1[< o0.005 < 0.005 0/ 1 0. 005 0.005 0/ 1
I PA=TS (mg,/1) < 0,04 < 0.04 0/ 2
=3 (mg/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)
vrun Ay (mg,/1) < 0.002 < 0.002 0/ 2
Ju i {k (mg,/1) < 0.0002 <€0. 0002 0/ 2
1, 2 (mg,/'1) < 0.0004 <0. 0004 0/ 2
1, 1-YrapxFlLy (mg,/1) < 0.002 < 0.002 0/ 2
VA—1, 2—Y/uRnTFLv (mg,/1) < 0.004 < 0.004 0/ 2
W B 1, 1, 1—h)Zupxg (mg,/1) < 0.0005 <€0. 0005 0/ 2
1, 1, 2—hYsmmxyr (mg/1) < 0.0006 <0.0006 0/ 2
FYsmpTFLy (mg,/'1) < 0.002 < 0.002 0/ 2
FhrIrsmBREFLY (mg,/ 1) < 0.0005 <0. 0005 0/ 2
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
(mg/1)
(mg/1)
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
7x=hnFir (MEP) (mg/1)
Ay TaFtT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=y b (mg/1) 0.003 0.002 ~ 0.003] 1/ 2
(mg,/'1)
TUFEL (mg,/1)
Hihe=1%/)~v— (mg,/1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
EEWESIZ "t (mg,/1) < 0.01 0/ 2
% (mg./1) < 0.0l 0/ 2
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z OfhIEH AV b CEERRY Lok (ng,/'1)
TOCH (mg,/ 1)
TR (1)
RURY (ms/m) 16 15 ~ 1712/ 12 9.6 7.1~ 16[12/ 12 20 10 ~ 32|12/ 12
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (f#,/100m1)
A A S I A (mg,/1) 0.03 0.02 ~ 0.03[ 2/ 2 0.03 0.02 ~ 0.03] 2/ 2 0. 05 0.03 ~ 0.06] 2/ 2




TR

KB

N
TCN

S

[ES N St i 1T
T HA (©) HF (®) EERE )

HEE H HETE S N~ T KA n/n E25] S/ N~ KA n/n 23] S/ NME~ KA n/n
pH 7.2 7.0 ~ 7.5 0/ 12 7.5 7.2 ~ 7.8 0/ 12 7.6 7.4~ 7.9[ 0/ 12
DO (mg/1) 7.2 6.2 ~ 8.6] 0/ 12 9.0 8.1~ 10| 0/ 12 9.9 9.2 ~ 12| 0/ 12
BOD (mg,1) 3.1 14~ 15[ 0/ 12 1.3 0.7 ~ 2.8 0/ 12 0.6 < 0.5 ~ 0.8] 0/ 12
BOD (T B 75%1) 1.2 1.6 0.7
COD (mg,1) 5.1 3.6 ~ 7.5 0/ 12 2.3 1.3 ~ 3.6[ 0/ 12 1.6 0.7 ~ 2.4[ 0/ 12

AEERSIEA (D [s's (mg,/1) 7 1~ 16[ 0/ 12 5| < 1~ 17 0/ 12 2| < 1~ 6] 0/ 12
KI5 BB (MPN,/100m1) 3. 9E04 9. 3E02 ~ 2.4E05| 9/ 12
n —~F A R (mg,/1)
LIk (mg,/1) 2.8 1.6 ~ 5.6 6/ 6 1.1 0.94 ~ 1.3 6/ 6 1.0 0.94 ~ L1 4/ 4
B (mg,/1) 0.16 0.12 ~ 0.23[ 6/ 6 0.12 0.023 ~ 0.48) 6/ 6 0. 055 0.037 ~ 0.077[ 4/ 4
g (mg,1) 0.019 0.013 ~ 0.025] 0/ 4 0.015 0.002 ~ 0.022] 0/ 4 0. 004 0.004 0/ 1
RS (mg,/1) < 0.001 < 0.001 0/ 2
R (mg,/1) ND ~ < 0.1 0/ 2
§h (mg/1)| < 0.005 < 0.005 0/ 1 0.012[ < 0.005 ~ 0.033] 1/ < 0.005 < 0.005 0/ 1
Al | L (mg/ D] < 0.04 < 0.04 0/ 2[< o004 < 0.04 0/ 2/< 004 < 0.04 0/ 2
=3 (mg/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 2
KRKER (mg,/1)
T X LK (mg,/1)
(mg,/1) <0. 0005 0/ 1 <0.0005 0/ 1
(mg/ 1| < 0.002 < 0.002 0/ 2[< o0.002 < 0.002 0/ 4| < 0.002 < 0.002 0/ 2
(mg,/1)| < 0.0002 <0.0002 0/ 2[< 0.0002 <0.0002 0/ 2[< 0.0002 <0.0002 0/ 2
(mg,/1)| < 0.0004 <0.0004 0/ 2[< 0.0004 <0.0004 0/ 2[< 0.0004 <0.0004 0/ 2
1, 1-Y/apxFLy (mg/ 1| < 0.002 < 0.002 0/ 2[< o.002 < 0.002 0/ 2| < o0.002 < 0.002 0/ 2
YA—1, 2—Y/uRxFLr (mg/ 1| < 0.004 < 0.004 0/ 2[< o0.004 < 0.004 0/ 2| < o0.004 < 0.004 0/ 2
fo— 1, 1, 1-hYsumxyy (mg/1) | < 0.0005 <0. 0005 0/ 2[< 0.0005 <0.0005 0/ 2[< 0.0005 <0.0005 0/ 2
1, 1, 2—hYsmmxyr (mg,/ 1) | < 0.0006 <0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 2[< 0.0006 <0.0006 0/ 2
M) ZpaxFLo (ng/1)| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
FrIzmBZFLL (mg/1) | < 0.0005 <0. 0005 0/ 2 0.0006] < 0.0005 ~ 0.0008] 0/ 4| < 0.0005 <0.0005 0/ 2
1, 3—Yrunrusy (mg,/1) | < 0.0002 <€0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 2
FUT A (mg/1) | < 0.0006 <0.0006 0/ 2| < 0.0006 <0. 0006 0/ 2
Yy (mg,/1)| < 0.0003 <0.0003 0/ 2| < 0.0003 <0.0003 0/ 2
FARL LT (mg/1D)| < 0.002 < 0.002 0/ 2[< o.002 < 0.002 0/ 2
R (ng,/1) [ < 0.001 < 0.001 0/ 2| < 0.001 < 0.001 0/ 2
Ly (mg/1)| < 0.002 < 0.002 0/ 2| < o0.002 < 0.002 0/ 2
R %8 3R e OV R 28 3 (mg,/1) 1.6 1.2 ~ 1.9 0/ 2 0.83 0.80 ~ 0.86| 0/ 2
R 5 S (mg,/1) 0.18 0.013 ~ 0.35) 2/ 2 0. 026 0.007 ~ 0.044| 2/ 2
5o (ng/1) | < 0.1 <01 0/ 2|« 0.1 <01 0/ 2
139 # (mg,/1) 0.02| < 0.02 ~ 0.02) 0/ 2|< 0. 02 < 0.02 0/ 2
1, 4—VFFH (mg,/'1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
Jma kLA (mg,/'1)
FFv2—1, 2—Y/mppxFlL (mg,/1)
1, 2—=Y7murruy (mg,/1)
p—YrmRR Yy (mg/1)
AV FYFF (mg./'1)
HAT V) (mg/1)
Zx=btrFFr (MEP) (mg./'1)
AV TaFHT (mg/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg/1)
R D nwﬁ%’x fDDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
sal=fr7xy (CNP) * (mg./'1)
bz (mg/1)
FrLy (mg/1)
THNEED T ~F L (mg./'1)
= b (mg,/1) 0.003 0.002 ~ 0.004 2/ 2 < 0.001 0/ 2 < 0.001 0/ 2
€Y TT (mg,/1)
TYFEY (mg,/1)
ke =LE ) ~v— (mg,/1)
TEsmRE RY Y (ng/1)
Ky (mg,/1)
v7v (mg,/1)
eVt (mg,/1) < 0.01 0o/ 2 < 0.01 0/ 2
* (mg./1) < 0.0l 0/ 2 < 0.01 0/ 2
(R = (mg,/1)
~ v (GREE) * (mg./'1)
7\ h (mg./'1)
T =T g S (mg./'1)
DATHEE S R (mg,/1)
ZDHhIEH (mg./1)
(mg./'1)
(1)
(ms/m) 20 12 ~ 31]12/ 12 13 11~ 15|12/ 12 14 12 ~ 14|12/ 12
ClAFr* (mg./'1)
smna7 )l axk (ng/l) 5 3~ 7 4/ 4 4 2~ 9 1/ 4
S AT R B R R (fi5,/100m1) 280 33 ~ 570 6/ 6
A A S I A (mg./'1) 0. 06 0.04 ~ 0.07) 2/ 2 0. 05 0.03 ~ 0.06] 2/ 2 0.03[ < 0.02 ~ 0.03[ 1/ 2




TR

KB

N
TNES

S

RE ESTRI B BRI
WEHR RIS OKEEF ) R [S) 5 i )
)T H HETE SEH) S N~ T KA n/n fE5] S/ N~ KA n/n 25 S/ NME~ KA n/n
p H 7.4 7.2 ~ 7.5 0/ 12 7.3 7.1~ 7.7 0/ 11 7.3 7.1~ 7.6] 0/ 11
DO (mg/1) 7.0 5.4 ~ 9.0] 0/ 12 9.3 8.4 ~ 10| 0/ 11 8.7 8.0 ~ 9.4[ 0/ 11
BOD (mg,1) 1.9 1.0~ 2.6] 0/ 12 17| < 0.5 ~ 2.9] 0/ 11 2.1 0.9 ~ 59 0/ 11
BOD (F Be: 75%i0) 2.1 2.5 2.9
COD (mg,1) 1.5 3.0 ~ 6.6] 0/ 12 3.2 2.4 ~ 5.4[ 0/ 11 3.9 1.9 ~ 7.0 0/ 11
AEERSIEA (D [s's (mg,/1) 12 4~ 40| 0/ 12 14 5~ 30l 0/ 11 1 1~ 1| o/ 11
KI5 BB (MPN,/100m1)
n —~F T (mg,/1)
LIk (mg,/1) 1.5 0.96 ~ 2.0 4/ 4 2.6 1.5 ~ 4.9] 4/ 4
Lo (mg,/1) 0.19 0.13 ~ 0.23[ 4/ 4 0. 084 0.052 ~ 0.13] 4/ 4
X (mg,1) < 0.001] < 0.001~ < 0.014] 0/ 2 0.019 0.019 0/ 1
HEITA (mg,/1)
LTV (mg,/'1) ND ~ < 0.1] 0/ 2
k) (mg/1)| < 0.005 < 0.005 0/ 1 < 0.005 < 0.005 0/ 1
I PA=TS (mg,/1) < 0,04 < 0.04 0/ 2
=3 (mg/1)| < 0.005 < 0.005 0/ 2 < 0.005 < 0.005 0/ 2
KRKER (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1) <0.0005 0/ 1
S L (mg/1)| < 0.002 < 0.002 0/ 2 < 0,002 < 0.002 0/ 2
Ju i {k (mg/1) | < 0.0002 <€0. 0002 0/ 2 < 0.0002 <€0. 0002 0/ 2
1, 2 (mg,/1)| < 0.0004 <0.0004 0/ 2 < 0.0004 <0.0004 0/ 2
1, 1-Y/apxFLy (mg/ 1| < 0.002 < 0.002 0/ 2 < 0,002 < 0.002 0/ 2
vA—1, 2—Y/upzFLo (mg/1)| < 0.004 < 0.004 0/ 2 < 0.004 < 0.004 0/ 2
fo— 1, 1, 1-hYsumxyy (mg,/1) | < 0.0005 <0. 0005 0/ 2 < 0.0005 <0.0005 0/ 2
1, 1, 2—hVZmppzgy (mg//1) | < 0.0006 <€0. 0006 0/ 2 < 0.0006 <€0. 0006 0/ 2
M) ZpaxFLo (ng/1)| < 0.002 < 0.002 0/ 2 < 0.002 < 0.002 0/ 2
FhIsmpTFLL (mg/1) | < 0.0005 <0. 0005 0/ 2 < 0.0005 <0.0005 0/ 2
1, 3—Yrmursu~y (mg,/'1)
FT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
(mg/1)
(mg/1)
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
Forz2—1, 2-YZppxFLr (mg./'1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
7x=hnFir (MEP) (mg/1)
AV TaFHT (mg/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 fDDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
THNBEYTF L ~F L (mg,/1)
= v (mg,/1) 0.004 0.003 ~ 0.004f 2/ 2 0.004 0.002 ~ 0.006| 2/ 2
(mg,/'1)
TUFEL (mg,/1)
Hihe=1%/)~v— (mg,/1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
EEWESIZ "t (mg,/1) < 0.01 0/ 2 < 0.01 0/ 2
B (mg,/1) < 0.01 0/ 2
(R = (mg,/1)
~ v (GREE) * (mg./'1)
7\ h (mg./'1)
T =T g S (mg./'1)
DATHEE S R (mg,/1)
Z OfhIEH AV b CEERRY Lok (ng,/'1)
TOCx* (mg./1)
i (1)
RURY (ms/m) 20 13 ~ 2312/ 12 17 13 ~ 2311/ 11 18 13 ~ 26[11/ 11
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (f#,/100m1)
A A S I A (mg,/1) 0. 06 0.02 ~ 0.09[ 2/ 2 0. 05 0.03 ~ 0.07) 2/ 2 0. 01 0.03 ~ 0.05] 2/ 2




ERR22MEEE  KIRRIR RS

[ES 1B K1 S )
HEHLT [ AR (=) i (C) AR A i il [

35 16 H 7 i S5 S /M~ Ji KA n/n 1) S /M~ Ji KA n/n -5 S/ IMIF A~ Ji KA n/n
pH 7.4 7.2 ~ 7.5] 0/ 6 7.6 7.1 ~ 8.4] 0/ 12 7.4 7.0 ~ 7.8] 0/
DO (mg,1) 9.6 9.1 ~ [ o/ 6 12 3.9 ~ 19 17 12 10 6.4 ~ 16| 0/
BOD (mg,1) 0.5] < 0.5 ~ 0.5] 0/ 6 3.9 2.3 ~ 7.1] 1/ 12 6.6 2.7 ~ 14| 0/
BOD (B 75%i) | < 0.5 4.1 14
coD (mg,1) 0.6] < 0.5 ~ 0.9] 0/ 6 5.2 2.9 ~ 8.9l 0/ 12 9.5 1.8 ~ 18] 0/

AEERSIEA (D [s's (mg,/1) 2| < 1~ 71 0/ 6 4 1~ 13 0/ 12 5 3~ 71 0/
KI5 BB (MPN,/100m1)
n —~F Al T (mg,/1)
A Hx (mg,/'1) 5.6 5.1~ 6.1] 2/ 2
Lk (mg,/1) 0. 36 0.31 ~ 0.40[ 2/ 2
ity (mg,/1)
HEITA (mg,/1)
EYT v (mg,/'1)
k) (mg,/'1)
I PA=FS (mg,/1)
ft# (mg,/1)
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)
vran ALy (mg,/'1)
3 (mg,/'1)
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hVZmu=g (mg,/1)
M) ZmpxFLyo (mg,/1)
FhIrmBIFL L (mg/1) < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)
139 # (mg,/'1) <002 < 0.02 0/
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
A 8 () (mg,/1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
EEWESIZ "t (mg,/1)
il (mg./'1)
B (RARE) = (mg,/1)
~ A (TEARE) (mg,/1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z OfIH vk g (mg /1)
Sk (mg./'1)
(BE) 2| < 1~ 410/ 12
TERUR I R (ms/m) 9.6 9.2 ~ 10 6/ 6 30 20 ~ 45[12/ 12 38 21 ~ 71| 3/
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (f#,/100m1)
A A R A (mg,/1) 0.02| < 0.02~ 0.02[ 1/ 2




TR

KB

N
TNES

S

[ES B
HEHLT AN A T (C)

35 16 H 7 i S5 S /M~ Ji KA n/n 1) S /M~ Ji KA n/n -5 S/ IMIF A~ Ji KA n/n
pH 7.1 6.8 ~ 8.0l 0/ 12
DO (mg,1) 7.3 3.9 ~ 12| 2/ 12
BOD (mg,1) 3.4 2.1~ 5.6 1/ 12
BOD (T B 75%1) 3.9
COD (mg,1) 5.9 3.5 ~ 9.0[ 0/ 12

AEERSIEA (D [s's (mg,/1) 12 6 ~ 38] 0/ 12
KI5 BB (MPN,/100m1)
n —~F Al T (mg,/1)

A Hx (mg,/'1) 3.6 3.5 ~ 3.7 2/ 2

A (mg,/'1) 0.29 0.26 ~ 0.32) 2/ 2
ity (mg,/1)
HEITA (mg,/1)
EYT v (mg,/'1)
k) (mg,/'1)
I PA=FS (mg,/1)
ft# (mg,/1)
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)
= (mg,/1)
3 (mg,/'1)
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hVZmu=g (mg,/1)
M) ZmpxFLyo (mg,/1)
FhrIrsmBREFLY (mg,/1)
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)
ERES (mg,/'1)
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
A 8 () (mg,/1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)

= b (mg,/1) < 0.001 0/ 1
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)

B HY (mg,/1) < 0.02 0/ 1
v7v (mg,/1)
EEWESIZ "t (mg,/1)
il (mg./'1)
B (RARE) = (mg,/1)
~ A (TEARE) (mg,/1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z O H ER AN (mg,/1)
Sk (mg./'1)

(BE) 11 4~ 47|12/ 12

SRR R (ms/m) 25 12 ~ 17|12/ 12
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)

S AT R B R R (fi5,/100m1) 3600 2100 ~ 5000 2/ 2
A 4o FETG AL (ng,/1)




TR

AR e

S

[ES 2211 (1) #2211 (2) ) (3)
HE [ (AA) TS (AA) [FESE ()
HEE H HETE SfE) S N~ T KA n/n E25] S/ N~ KA n/n 23] S/ NME~ KA n/n
p H 7.9 7.6 ~ 8.4 0/ 12 7.6 7.4~ 7.9[ 0/ 12 7.3 7.1~ 7.6] 0/ 12
DO (mg/1) 11 8.8 ~ 13 0/ 12 10 9.0 ~ 12| 0/ 12 9.1 7.4~ 12| 1/ 12
BOD (mg/1) 0.7] < 0.5 ~ Lif 1/ 12 0.6] < 0.5 ~ L] 1/ 12 0.9 < 0.5 ~ 2.3 1/ 12
BOD (T B 75%1) 0.7 0.7 0.8
COD (mg,1) 1.2 0.8 ~ 1.8] 0/ 12 1.1 0.5 ~ 2.6] 0/ 12 2.0 L1~ 3.6[ 0/ 12
AEERSIEA (D [s's (mg,/1) 2 1~ 7] 0/ 12 1 < 1~ 4] 0/ 12 7 1~ 21| 0/ 12
Ry B A (MPN,/100m1) 2. 9E03 4,5E01 ~ 1.3E04[ 117 12 1. 3E04 1. TE03 ~ 4.9E04] 12/ 12 2. 6E04 2. 3E03 ~ 1.3E05[12/ 12
n —~F Al T (mg,/'1) ND 0/ 4 ND 0/ 4 ND 0/ 4
A Hx (mg,/1) 0.33 0.21 ~ 0.42[12/ 12 0.52 0.32 ~ 0.66[12/ 12 0.84 0.67 ~ Lofi2/ 12
B (mg,/1) 0.013 0.005 ~ 0.019| 12/ 12 0.014 0.007 ~ 0.019| 12/ 12 0. 067 0.037 ~ 0.16]12/ 12
g (mg,1) 0.004[ < 0.001 ~ 0.014[ 0/ 12 0.008[ < 0.001 ~ 0.040| 0/ 12 0. 004 0.001 ~ 0.014] 0/ 12
BRI Y A (mg/ 1| < 0.001 < 0.001 0/ 2[< o.001 < 0.001 0/ 4| < 0.001 < 0.001 0/ 2
BT v (mg,/'1) ND ND 0/ 2 ND ND 0/ 4 ND ND 0/ 2
k) (mg/1)| < 0.005 < 0.005 0/ 12| < 0.005 < 0.005 0/ 12| < 0.005 < 0.005 0/ 2
Al | L (mg/ D] < 0.04 < 0.04 0/ 2[< o004 < 0.04 0/ 4| < 0.04 < 0.04 0/ 2
=3 (mg/1)| < 0.005 < 0.005 0/ 6] < 0.005 < 0.005 0/ 6] < 0.005 < 0.005 0/ 6
KRR (mg/1)| < 0.0005 <0. 0005 0/ 2[< 0.0005 <0.0005 0/ 4f < 0.0005 <0. 0005 0/ 2
T X LK (mg,/1)
(mg,/1) ND ND 0/ 1 ND ND 0/ 1 ND ND 0/ 1
(mg/ 1| < 0.002 < 0.002 0/ 2[< o0.002 < 0.002 0/ 2| < o0.002 < 0.002 0/ 2
(mg,/1)| < 0.0002 <0.0002 0/ 2[< 0.0002 <0.0002 0/ 2[< 0.0002 <0.0002 0/ 2
(mg,/1)| < 0.0004 <0.0004 0/ 2[< 0.0004 <0.0004 0/ 2[< 0.0004 <0.0004 0/ 2
1, 1-Y/apxFLy (mg/ 1| < 0.002 < 0.002 0/ 2[< o.002 < 0.002 0/ 2| < o0.002 < 0.002 0/ 2
YA—1, 2—Y/uRxFLr (mg/ 1| < 0.004 < 0.004 0/ 2[< o0.004 < 0.004 0/ 2| < o0.004 < 0.004 0/ 2
fo— 1, 1, 1-hYsumxyy (mg/1) | < 0.0005 <0. 0005 0/ 2[< 0.0005 <0.0005 0/ 2[< 0.0005 <0.0005 0/ 2
1, 1, 2—hYsmmxyr (mg,/ 1) | < 0.0006 <0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 2[< 0.0006 <0.0006 0/ 2
M) ZpaxFLo (ng/1)| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
FhIsmpTFLL (mg/1) | < 0.0005 <0. 0005 0/ 2[< 0.0005 <0.0005 0/ 2[< 0.0005 <0.0005 0/ 2
1, 3—Y/mrrasy (mg/1)| < 0.0002 <0. 0002 0/ 2[< 0.0002 <0.0002 0/ 2[< 0.0002 <0.0002 0/ 2
FUT N (mg,/1) | < 0.0006 <€0. 0006 0/ 2| < 0.0006 <€0. 0006 0/ 2| < 0.0006 <€0. 0006 0/ 2
Yy (mg/1)| < 0.0003 <0.0003 0/ 2[< 0.0003 <0.0003 0/ 2[< 0.0003 <0.0003 0/ 2
FARXUHNT (mg,/1)| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
R (ng,/1) [ < 0.001 < 0.001 0/ 2| < 0.001 < 0.001 0/ 2| < 0.001 < 0.001 0/ 2
Ly (mg/ 1| < 0.002 < 0.002 0/ 2[< o.002 < 0.002 0/ 2| < o0.002 < 0.002 0/ 2
R %8 3R e OV R 28 3 (mg,/1) 0.27 0.19 ~ 0.32) 0/ 4 0. 45 0.39 ~ 0.52)] 0/ 4 0.63 0.60 ~ 0.66] 0/ 4
A 2 (mg,'1) 0.003| < 0.002 ~ 0.005| 3/ 4 0.005[ < 0.002 ~ 0.006] 3/ 4 0.015 0.012 ~ 0.017[ 4/ 4
5o (ng/1) | < 0.1 <01 0/ 4] < 0.1 <01 0/ 4
135 # (ng/1) | < 0. 02 < 0.02 0/ 2|< 0. 02 < 0.02 0/ 2
1, 4—VFFH (mg,/'1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
Jma kLA (mg,/'1)
FFv2—1, 2—Y/mppxFlL (mg,/1)
1, 2—=Y7murruy (mg,/1)
p—YrmRR Yy (mg/1)
AV FYFF (mg./'1)
HAT V) (mg/1)
Zx=btrFFr (MEP) (mg./'1)
AV TaFHT (mg/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg/1)
R D nwﬁ%’x fDDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
suji=tr7=xr (CNP) * (mg./'1)
bz (mg/1)
FrLy (mg/1)
THNEED T ~F L (mg./'1)
= bk (mg./'1)
€Y TT (mg,/1)
TYFEY (mg,/1)
ke =LE ) ~v— (mg,/1)
TEsmRE RY Y (ng/1)
Ky (mg,/1)
vT (mg,/1)
eVt (mg,/1) < 0.01 0/ 4 < 0.01 0/ 4 < 0.01 0/ 4
il (mg,/1) 0.01f < 0.01 ~ 0.01f 1/ 4 < 0.01 0/ 4 < 0.01 0/ 4
k(AR = (mg,/1) 0.04 0.02 ~ 0.05[ 4/ 4 0. 07 0.03 ~ 0.12] 4/ 4 0. 07 0.04 ~ 0.15| 4/ 4
~ N (R (mg,/1) < 0.02 0/ 4 < 0.02 0/ 4 0.02] < 0.02~ 0.02) 2/ 4
e (mg./1) < 0,02 0/ 4 < 0,02 0/ 4 < 0,02 0/ 4
T v =T R R (mg,/1) < 0.05 0/ 4 < 0.05 0/ 4 0.07[ < 0.05 ~ 0.11] 3/ 4
DATHEE S R (mg,/1)
ZOfIEH (mg,/1) 0. 006 0.004 ~ 0.009 4/ 4 0.010 0.007 ~ 0.014f 4/ 4 0.031 0.025 ~ 0.042| 4/ 4
(mg./'1)
(BE) 2| < 1~ 5|11/ 12 1] < 1~ 2| 7/ 12 3 1~ 812/ 12
(ms/m) 13 10 ~ 18|12/ 12
C1AAr# (mg,/1) 3 2~ 3| 4/ 4 3 2~ 3| 4/ 4 6 4~ 9|12/ 12
Jman7 4l ax (ug/l)
S AT R B R R (15,7 100m1) 890 < 2~ 3400 3/ 4 230 17 ~ 150 4/ 4 68 16 ~ 10| 4/ 1
B A A o i I A (mg./'1)




TR

AR e

S

[ES 2211 (3) I 2
WEHR | (A) KEAHE (AA) ] (AN
HEEH I EfE S5 S /M~ Ji KA m/n B2 S /M~ Ji KA n/n B2 S/ IMIF A~ Ji KA w/n
pH 7.3 7.2 ~ 7.6] 0/ 12 7.7 7.5 ~ 7.8] 0/ 4 8. 1 7.7 ~ 8.7] 1/ 12
DO (mg/1) 9.3 7.3 ~ 12| 1/ 12 9.8 9.3 ~ 10| 0/ 4 11 9.0 ~ 12| 0/ 12
BOD (mg/1) 0.8 0.5 ~ 15[ 0/ 12 1.1 0.8 ~ 16| 1/ 4 0.5 < 0.5 ~ 0.9] 0/ 12
BOD (F Be: 75%i0) 1.0 1.0 < 0.5
coD (mg/1) 2.1 1.6 ~ 2.5 0/ 3 1.6 0.6 ~ 2.6] 0/ 4 0.8] < 0.5 ~ 2.2] 0/ 12
AEERSIEA (D [s's (mg,/1) 6 1~ 1| o/ 12 6 1~ 1 os 4 1f < 1~ 1 0/ 12
Ry B A (MPN,/100m1) 8. 9E03 3.3E03 ~ 2.3E04| 6/ 6 9. 5E03 1. 3E02 ~ 14E04| 4/ 4 1. 3£03 4.5E01 ~ 4.9E03| 10/ 12
n —~F Al T (mg,/1)
LIk (mg,/1) 0.94 0.72 ~ 1.2 4/ 4 0. 62 0.55 ~ 0.68) 2/ 2 0. 40 0.27 ~ 0.49| 12/ 12
B (mg,/1) 0. 068 0.057 ~ 0.10] 4/ 4 0. 009 0.008 ~ 0.010f 2/ 2 0.012 0. 006 ~ 0.018[12/ 12
g (mg,1) 0. 002 0.001 ~ 0.005| 0/ 4 0.004[ < 0.001 ~ 0.015[ 0/ 12
CARVEN (mg,/1) < 0.001 < 0.001 0/ 1
LTV (mg,/'1) ND ND 0/ 1
§h (mg,/'1) < 0.005 < 0.005 0/ 6
Al 2 7 (mg,/1) <0.04 < 0.04 0/ 1
=S (mg,/1) < 0.005 < 0.005 0/ 6
KRR (mg,/1) < 0.0005 <0.0005 0/ 1
T X LK (mg,/1)
PCB (mg,/'1) ND ND 0/ 1
vyna Ay (mg,/'1) < 0.002 < 0.002 0/ 1
JU AL (mg,/'1) < 0.0002 <€0.0002 0/ 1
1, 2 (mg,/'1) < 0.0004 <0. 0004 0/ 1
1, 1—-YZup=FLv (mg,/1) < 0.002 < 0.002 0/ 1
VA—1, 2—Y/uRnTFLv (mg,/1) < 0.004 < 0.004 0/ 1
e 1, 1, 1—bYrmpzyy (mg,/1) < 0.0005 <0.0005 0/ 1
1, 1, 2—hVZmppzgy (mg/1) < 0.0006 <€0. 0006 0/ 1
FYsmpTFLy (mg/1) < 0.002 < 0.002 0/ 1
FhIrmBIFL L (mg/1) < 0.0005 <€0. 0005 0/ 1
1, 3—Yrunrusy (mg,/1) < 0.0002 <0. 0002 0/ 1
FUT N (mg,/1) < 0.0006 <€0. 0006 0/ 1
Pt (mg/1) < 0.0003 <€0. 0003 0/ 1
FARXUHNT (mg,/1) < 0.002 < 0.002 0/ 1
R (mg/1) < 0.001 < 0.001 0/ 1
Ly (mg/1) < 0.002 < 0.002 0/ 1
T A 28 S % OV R A 28 R (mg,/1) 0.33 0.22 ~ 0.37) 0/ 4
LA R 2 (mg,/1) 0.004] < 0.002 ~ 0.005] 3/ 4
(mg,/1) < 0.1 <01 0/ 4
(mg,/1) < 0.02 < 0.02 0/ 1
1, 4—VFFH (mg,/'1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
Jma kLA (mg,/'1)
FFv2—1, 2—Y/mppxFlL (mg,/1)
1, 2—=Y7murruy (mg,/1)
p—YrmRR Yy (mg/1)
AV FYFF (mg./'1)
ATV (mg,/1)
Zx=btrFFr (MEP) (mg./'1)
AV TaFHT (mg/1)
A 8 () (mg,/1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg/1)
R \\/\‘71:1/@%7 fDDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
suji=tr7=xr (CNP) * (mg./'1)
bz (mg/1)
FrLy (mg/1)
THNEED T ~F L (mg./'1)
= bk (mg./'1)
(mg./'1)
TUFEL (mg,/1)
ke =LE ) ~v— (mg,/1)
TEsmRE RY Y (ng/1)
Ky (mg,/1)
v7v (mg,/1)
Tz ) — V% (mg,/ 1)
il (mg./'1)
B (RARE) = (mg,/1)
~ v (GREE) * (mg./'1)
7\ h (mg./'1)
T v =T R R (mg,/1) 0. 08 0.05 ~ 0.12) 3/ 4 < 0.05 0/ 4
AT R 5 (mg,/1)
ZOfIEH A b CEERRY Lo (mg./'1)
TOCH (mg,/1)
8 (BE) 3 1~ 612/ 12 3 2~ 4| 4/ 4 1] < 1~ 1 1/ 12
RURY (ms/m) 14 9.8 ~ 21|12/ 12 8.0 7.9 ~ 8.1| 4/ 4
C1AAr# (mg,/1) 7 4~ 912/ 12 2 4/ 4
Jman7 4l ax (ug/l)
S AT R B R R (15,7 100m1) 95 68 ~ 1200 4/ 4 34| < 2 ~ 66 3/ 4
B A A o i I A (mg./'1)




TR

KB

N
TNES

S

[ES =K EE )i
WEHLS | =K (A) AR A i il (=) - 2 Wi (AA)

35 16 H 7 i S5 S /M~ Ji KA n/n 1) S /M~ Ji KA n/n -5 S/ IMIF A~ Ji KA n/n
pH 7.0 6.7 ~ 7.2] 0/ 4 7.3 7.2 ~ B 7.5 7.1 ~ 7.7l 0/ 4
DO (mg,1) 10 8.4 ~ 12 0/ 4 6.4 5.3 ~ 51 0/ 2 9.5 8.7 ~ 1] 0/ 4
BOD (mg,1) 17 11~ 2.6] 1/ 4 3.0 2.1~ .8l 0/ 2 0.9 0.6 ~ Laf 1/ 4
BOD (T B 75%1) 2.0 3.8 0.8
coD (mg,1) 2.2 11~ 3.1 0/ 4 3.7 3.3 ~ R 0.8] < 0.5 ~ Lof o/ 4

AEERSIEA (D [s's (mg,/1) 7 1~ 18[ 0/ 4 3 1~ 4 0/ 2 2| < 1~ 3 0/ 4
Ry B A (MPN,/100m1) 2. 0E04 2. 4E03 ~ 5.4604| 4/ 4 3. TE03 3.3E01 ~ 1.3E04[ 3/ 4
n —~F Al T (mg,/1)

LIk (mg,/'1) 11 2/ 2 0.78 0.61 ~ 0.94[ 2/ 2
B (mg,/1) 0. 052 0.029 ~ 0.074] 2/ 2 0.006) < 0.003 ~ 0.009[ 1/ 2
ity (mg,/1)
BRI YA (mg,/'1) < 0.001 < 0.001 0/ 1
2T (mg,/'1) ND ND 0/ 1
§h (mg,/'1) < 0.005 < 0.005 0/ 1
I PA=TS (mg,/1) < 0,04 < 0.04 0/ 1
ft# (mg,/1)
Fak R (mg,/1) < 0.0005 <€0. 0005 0/ 1
TV F VKSR (mg,/'1)
PCB (mg,/'1)
= (mg,/1)
3 (mg,/1) < 0.0002 <€0. 0002 0/ 1
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)

W B 1, 1, 1—h)Zupxg (mg,/1) < 0.0005 <€0. 0005 0/ 1
1, 1, 2—hYsmmxyr (mg/1) < 0.0006 <0.0006 0/ 1
FYsmpTFLy (mg,/'1) < 0.002 < 0.002 0/ 1
FhrIrsmBREFLY (mg,/ 1) < 0.0005 <0. 0005 0/ 1
1, 3—Yrunrusy (mg,/1) < 0.0002 <0. 0002 0/ 1
FUT A (mg/1)

D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)
ERES (mg,/'1)
1, 4—VFFH (mg,/'1)
V=T (mg,/1)

KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
A 8 () (mg,/1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)

R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
EEWESIZ "t (mg,/1)
il (mg./'1)
B (RARE) = (mg,/1)
~ A (TEARE) (mg,/1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)

Z O H ER AN (mg,/1)

Sk (mg./'1)

(BE) 14| < 1~ 6] 2/ 4 2| < 1~ 2 1/ 4

TERUR I R (ms/m) 9.9 8.4 ~ 1l 4/ 4 20 2/ 2 9.6 8.8 ~ 1| 4/ 4
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)

S AT R B R R (fi5,/100m1) 100 9 ~ 190 2/ 2
A 4o FETG AL (ng,/1)




TR

AR e

S

[ES 1 EEE b1
TEHR | B e (@) [l © T [
S H I EfE RE5] S /M~ Ji KA n/n 1) S /M~ Ji KA n/n -5 S/ IMIF A~ Ji KA w/n
pH 7.4 7.2 ~ 7.6] 0/ 12 7.4 7.2 ~ 7.6] 0/ 24 7.4 7.2 ~ 7.5] 0/
DO (mg,1) 9.1 6.4 ~ 1l 1/ 12 8.4 5.6 ~ 1| o/ 24 8.6 7.0 ~ 9.6[ 1/
BOD (mg,1) 0.7 1.3[ 0/ 12 1.5 0.7 ~ 5.2 1/ 24 1.2 1.0~ 1.3 0/
BOD (T B 75%1) 0.8 1.8 1.3
COD (mg,1) 17 0.8 ~ 3.1 0/ 12 2.6 1.2 ~ 4.4 0/ 12
AEERSIEA (D [s's (mg,/1) 3 1~ 6] 0/ 12 6 1~ 19[ 0/ 24 2 1~ 3[ 0/
Ry B A (MPN,/100m1) 1. 3E04 1. 1E03 ~ 3.5E04[ 12/ 12 1. 3E04 3.3E03 ~ 2.3E04| 3/
n —~F A R (mg,/'1) ND 0/ 4
LIk (mg,/1) 1.0 0.72 ~ 1.4]12/ 12 1.6 0.82 ~ 2.4|12/ 12
B (mg,/1) 0. 053 0.027 ~ 0.077| 12/ 12 0. 099 0.049 ~ 0.20]12/ 12
g (mg,1) 0. 007 0.003 ~ 0.043] 0/ 12 0.011 0.006 ~ 0.032[ 0/ 12
BRI A (mg/1)| < 0.001 <0.001 0/ 2[< o.001 < 0.001 0/ 2
LTV (mg,/'1) ND ND 0/ 2 ND ND 0/ 2
i (mg/1)| < 0.005 < 0.005 0/ 6| < 0.005 < 0.005 0/ 6
Al | L (mg/ D] < 0.04 < 0.04 0/ 2[< o004 < 0.04 0/ 2
=3 (mg/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 6
kR (mg/1)| < 0.0005 <0. 0005 0/ 2[< 0.0005 <0.0005 0/ 2
TV F VKSR (mg,1)
(mg,/1) ND ND 0/ 1 ND ND 0/ 1
(ng/1)| < 0.002 < 0.002 0/ 2| < o0.002 < 0.002 0/ 4
(mg/1)| < 0.0002 <0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 2
(ng/1)| < 0.0004 <€0. 0004 0/ 2| < 0.0004 <0. 0004 0/ 4
1, 1-Ys/mpxFLy (mg/1)| < 0.002 < 0.002 0/ 2[< o.002 < 0.002 0/ 2
vA—1, 2—Y/upzFLo (mg/1)| < 0.004 < 0.004 0/ 2[< o0.004 < 0.004 0/ 2
fo— 1, 1, 1-hYsumxyy (mg/1) | < 0.0005 <0. 0005 0/ 4f < 0.0005 <0.0005 0/ 2
1, 1, 2—hYsmmxyr (mg,/ 1) | < 0.0006 <0. 0006 0/ 2| < 0.0006 <0. 0006 0/ 2
FYsmpTFLy (mg,/1)| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
FhIsmpTFLL (mg/1) | < 0.0005 <0. 0005 0/ 2 0.0008] < 0.0005 ~ 0.0018] 0/ 4
1, 3—Yrunrusy (mg,/1) | < 0.0002 <€0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 2
FT A (mg/1) | < 0.0006 <0.0006 0/ 2| < 0.0006 <0. 0006 0/ 2
P (mg,/1) | < 0.0003 <€0.0003 0/ 2| < 0.0003 <€0.0003 0/ 2
FFA AT (mg/1D)| < 0.002 < 0.002 0/ 2[< o.002 < 0.002 0/ 2
R (ng,/1) [ < 0.001 < 0.001 0/ 2| < 0.001 < 0.001 0/ 2
Ly (mg,/1)| < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 2
R %8 3R e OV R 28 3 (mg,/1) 0.81 0.54 ~ 1.0l 0/ 4 1.1 0.90 ~ 1L.3[ 0/ 4
R 5 S (mg,/1) 0.013 0.006 ~ 0.019[ 4/ 4 0. 044 0.032 ~ 0.058| 4/ 4
5o (ng/1) | < 0.1 <01 0/ 4] < 0.1 <01 0/ 4
139 # (ng/1) | < 0. 02 < 0.02 0/ 2 0.02] < 0.02 ~ 0.03] 0/ 4
1, 4—VFFH (mg,/'1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
Jma kLA (mg,/'1)
FFv2—1, 2—Y/mppxFlL (mg,/1)
1, 2—=Y7mrr7r/Ny (mg,/1)
p—YrmRR Yy (mg/1)
AV FYFF (mg./'1)
HAT V) (mg/1)
Zx=btrFFr (MEP) (mg./'1)
AV TaFHT (mg/1)
A 8 () (mg,/1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg/1)
R D nwﬁ%’x fDDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
suji=tr7=xr (CNP) * (mg./'1)
bz (mg/1)
FrLy (mg/1)
THNEED T ~F L (mg./'1)
= bk (mg./'1)
€Y TT (mg,/1)
TYFEY (mg,/1)
ke =LE ) ~v— (mg,/1)
TEsmRE RY Y (ng/1)
Ky (mg,/1)
v7v (mg,/1)
eVt (mg,/1) < 0.01 0/ 4
i (mg,/1) 0.02] < 0.01 ~ 0.03[ 2/ 4
B (ARtE) * (mg,/1) 0.16 0.09 ~ 0.29[ 4/ 4
~ A (R * (mg,/1) 0.05) < 0.02 ~ 0.07[ 3/ 4
e (mg./1) < 0,02 0/ 4
T =T g S (mg./'1)
AT R 5 (mg,/1)
Z ORI H (ng,/'1)
(mg./'1)
(BE) 2 1~ 6|11/ 12 4 1~ 11|24/ 24 4 1~ 6 2/
(ms/m)
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (15,7 100m1) 1800 240 ~ 3600 4/ 4 430 260 ~ 560| 4/ 4 1200 68 ~ 3300 3/
B A A o i I A (mg./'1)




SRR 224F BE

AR e

S

[ES b1 I KFI
HE L[S (DY) T (B) R (©)

HEE H HETE SfE) S N~ T KA n/n E25] S/ N~ KA n/n 23] S/ NME~ KA n/n
pH 7.5 7.2 ~ 7.7 0/ 24 7.2 6.9 ~ 7.4 0/ 7.1 6.9 ~ 7.2 o/
DO (mg,1) 9.6 7.0 ~ 12 2/ 24 9.0 7.4 ~ 11| o/ 6.0 5.9 ~ 6.0[ 0/
BOD (mg,1) 1.3 0.6 ~ 2.0l 0/ 24 2.3 1.5 ~ 3.6] 1/ 3.1 2.7 ~ 3.5 0/
BOD (T B 75%1) 1.5 2.4 3.5
COD (mg,1) 2.7 1.4~ 5.4 0/ 12 3.1 1.9 ~ 1.0 0/ 3.8 3.5 ~ 1.0 o/

AEERSIEA (D [s's (mg,/1) 5 2~ 12[ 0/ 24 6 1~ 17| 0/ 7 7 0/
Ry B A (MPN,/100m1) 1. 4E04 7.9E02 ~ 4.9804[ 11/ 12 3. TE04 1. 7E03 ~ 1. 1E05[ 2/
n —~F A R (mg,/1)

LIk (mg,/1) 1.4 0.99 ~ 1.7]12/ 12 1.9 1.7~ 2.0| 2/
B (mg,/1) 0.078 0.054 ~ 0.13[12/ 12 0. 089 0.077 ~ 0.10] 2/
X (mg,1) 0.015 0.006 ~ 0.032[ 0/ 12
RS (mg//1)| < 0.001 < 0.001 0/ 2
LTV (mg,/'1) ND ND 0/ 2
k) (mg/1)| < 0.005 < 0.005 0/ 6
Al 2 7 (mg/ )| < 0.04 < 0.04 0/ 2
3 (mg/1)| < 0.005 < 0.005 0/ 6
#ek g (mg/1)| < 0.0005 <0. 0005 0/ 2
TV F VKSR (mg,1)
PCB (mg,/1) ND ND 0/ 1
vrauAs (ng/1)| < 0.002 < 0.002 0/ 2
Ju i {k (mg/1)| < 0.0002 <0. 0002 0/ 2
1, 2 (mg,/1)| < 0.0004 <0.0004 0/ 2
1, 1-Y/apxFLy (mg/ 1| < 0.002 < 0.002 0/ 2
YA—1, 2—Y/uRxFLr (mg/ 1| < 0.004 < 0.004 0/ 2
fo— 1, 1, 1-hYsumxyy (mg/1)| < 0.0005 <0. 0005 0/ 2
1, 1, 2—hYsmmxyr (mg,/1)| < 0.0006 <0. 0006 0/ 2
FYsmpTFLy (mg,/1)| < 0.002 < 0.002 0/ 2
FhIrmBIFL L (mg/1) 0.0006| < 0.0005 ~ 0.0007| 0/ 4
1, 3—Yrunrusy (mg/1) | < 0.0002 <0. 0002 0/ 2
FUI A (mg/1) | < 0.0006 <€0. 0006 0/ 2
Pt (mg,/1) | < 0.0003 <€0.0003 0/ 2
FARXUHNT (mg,/1)| < 0.002 < 0.002 0/ 2
R (ng,/1) [ < 0.001 < 0.001 0/ 2
Ly (mg,/1)| < 0.002 < 0.002 0/ 2
R %8 3R e OV R 28 3 (mg,/1) 1.1 0.77 ~ 1L3[ 0o/ 4
R 5 S (mg,/'1) 0.023 0.017 ~ 0.029 4/ 4
(ng/1) | < 0.1 <01 0/ 4
(mg/1) 0.03| < 0.02 ~ 0.04] 0/ 4
1, 4—VFFH (mg,/1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
Jma kLA (mg,/'1)
FILURA—1, 2—VsppFL (mg/1)
1, 2-YrmrurrrAy (mg,/1)
p—YrmRR Yy (mg/1)
A Y FHF L (mg/'1)
ATV (mg,/1)
Z7x=hueFir (MEP) (mg./'1)
Ay TaFtT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
sal=fr7xy (CNP) * (mg./'1)
bz (mg/1)
FrLy (mg/1)
TN T F L~F L (mg,/ 1)
= v (mg./'1) < 0.001 0/ < 0.001 0/
(mg./'1)
TUFE (mg,/'1) <0.0002 0/
ke =LE ) ~v— (mg,/1)
TEsmRE RY Y (ng/1)
v A (mg./1) < 0,02 0/ < 0,02 0/
v7v (mg,/1)
Tz ) — V% (mg,/ 1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T P S (mg,/1) 0.08| < 0.05 ~ 0.10] 3/ 4
AT S Fx (mg./'1)
ZOfIEH A b CEERRY Lo (mg./'1)
TOC* (mg,/1)
R (BE) 1 1~ 13|24/ 24 3 1~ 7| 4/
RURY (ms/m) 16 13 ~ 20 47/ 89 68 ~ 10| 2/
C1AAr# (mg,/1) 7 6 ~ 8l 4/ 4
Jman7 4l ax (ug/l)
S AT R B R R (15,7 100m1) 720 44 ~ 2400| 4/ 4
A A BT A (mg,/1)




SRR 224F BE

AR e

S

[ES AKEPNI KLl HRJ
AEH, | KK (©) i F#hG [S) [FESE (B)

HEE H HETE SfE) S N~ T KA n/n E25] S/ N~ KA n/n 23] S/ NME~ KA n/n
pH 7.4 7.1 ~ 8.0l 0/ 24 7.6 7.5 ~ 7.6] 0/ 2 7.6 7.2 ~ 8.3] 0/
DO (mg,1) 8.0 5.1~ 1| o/ 24 8.3 7.5 ~ 9.0l 0/ 2 7.7 3.9 ~ 9.8[ 1/
BOD (mg,1) 3.0 0.9 ~ 9.1] 3/ 24 3.2 2.8 ~ 3.6] 0/ 2 2.8 1.0 ~ 5.2 1/
BOD (T B 75%1) 4.3 3.6 2.8
COD (mg,1) 1.0 2.7 ~ 7.5 0/ 12 1.9 1.1~ 571 0/ 2 1.4 L1~ 7.0[ 0/

AEERSIEA (D [s's (mg,/1) 6 2~ 13[ 0/ 24 6 3~ 8l 0/ 2 13 5 ~ 21| 0/
KI5 BB (MPN,/100m1) 9. 8E03 2. 3E03 ~ 2.4E04[ 2/
n —~F A R (mg,/1)

LIk (mg,/1) 3.3 2.0 ~ 5.2[12/ 12 1.6 1.5 ~ 1.6 2/
Lo (mg,/1) 0.24 0.19 ~ 0.34[12/ 12 0. 065 0.047 ~ 0,082 2/
X (mg,1) 0.018 0.010 ~ 0.036[ 0/ 12
RS (mg//1)| < 0.001 < 0.001 0/ 2
LTV (mg,/'1) ND ND 0/ 2
k) (mg/1)| < 0.005 < 0.005 0/ 6
Al 2 7 (mg/ )| < 0.04 < 0.04 0/ 2
3 (mg/1)| < 0.005 < 0.005 0/ 6
#ek g (mg/1)| < 0.0005 <0. 0005 0/ 2
TV F VKSR (mg,/'1)
PCB (mg,/1) ND ND 0/ 1
vrauAs (ng/1)| < 0.002 < 0.002 0/ 2
Ju i {k (mg/1)| < 0.0002 <0. 0002 0/ 2
1, 2 (ng/1)| < 0.0004 <€0. 0004 0/ 4
1, 1-Y/apxFLy (mg/ 1| < 0.002 < 0.002 0/ 2
YA—1, 2—Y/uRxFLr (mg/ 1| < 0.004 < 0.004 0/ 2
e 1, 1, 1—hkYrppxiy (mg,/1) | < 0.0005 <0.0005 0/ 2
1, 1, 2—hYsmmxyr (mg,/1)| < 0.0006 <0. 0006 0/ 2
M) ZpaxFLo (ng/1)| < 0.002 < 0.002 0/ 2
FhIrmBIFL L (mg/1) 0.0006| < 0.0005 ~ 0.0009| 0/ 4
1, 3—Yrunrusy (mg/1) | < 0.0002 <0. 0002 0/ 2
FUI A (mg/1) | < 0.0006 <€0. 0006 0/ 2
Pt (mg,/1) | < 0.0003 <€0.0003 0/ 2
FARXUHNT (mg,/1)| < 0.002 < 0.002 0/ 2
R (ng,/1) [ < 0.001 < 0.001 0/ 2
Ly (mg,/1)| < 0.002 < 0.002 0/ 2
T A 28 S % OV R A 28 R (mg,/1) 2.1 1.5~ 2.8 0/ 4
R 5 S (mg,/'1) 0.17 0.096 ~ 0.23) 4/ 4
(ng/1) | < 0.1 <01 0/ 4
(mg/1) 0. 03 0.02 ~ 0.04f 0/ 4
1, 4—VFFH (mg,/1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
Jma kLA (mg,/'1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7mrr7r/Ny (mg,/1)
p—YrmRR Yy (mg/1)
A Y FHF L (mg/1)
ATV (mg,/1)
Z7x=hueFir (MEP) (mg./'1)
Ay TaFtT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
sal=fr7xy (CNP) * (mg./'1)
bz (mg/1)
FrLy (mg/1)
TN T F L~F L (mg,/ 1)
=L (mg,/1)
(mg./'1)
TUFEL (mg,/1)
ke =LE ) ~v— (mg,/1)
TEsmRE RY Y (ng/1)
B H Y (mg,/ 1) < 0.02 0/
v7v (mg,/1)
Tz ) — V% (mg,/ 1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
VAP (mg,/1)
T =T HEEHR (mg./'1)
AT S Fx (mg./'1)
ZOfIEH A b CEERRY Lo (mg./'1)
TOC* (mg,/1)
R (BE) 1 1~ 8|24/ 24 9 5 ~ 15[ 47/
RURY (ms/m) 20 17 ~ 23 2/ 2 15 13 ~ 15| 4/
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (15,7 100m1) 220 34 ~ 480 4/ 4 150 20 ~ 270 2/
A A BT A (mg,/1)




TR

AR e

S

FORIIE 2 EEAIRET EECIIETS EERIIET
HE R [F RS [} L (®) EZE] ()

s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n 25 S/ NME~ KA m/n
p H 7.7 7.2 ~ 8.6 1/ 12 7.6 7.3 ~ 8.1[ 0/ 12 7.5 7.2 ~ 7.7 0/
DO (mg/1) 11 8.4 ~ 15 0/ 12 11 8.6 ~ 15| 0/ 12 10 9.1 ~ 11| 0/
BOD (mg,1) 0.9 < 0.5 ~ 14f 0/ 12 0.9 0.5 ~ 4] 0/ 12 1.2 0.6 ~ 2.1 o/
BOD (T B 75%1) 0.8 1.0 1.2
COD (mg,1) 2.7 1.6 ~ 1.6] 0/ 12 2.5 1.4~ 4.0 0/ 12 2.8 2.5 ~ 3.2[ o/

AEERSIEA (D [s's (mg,/1) 3] < 1~ 8l 0/ 12 4 1~ 1| o/ 12 3 2~ 6[ 0/
Ry B A (MPN,/100m1) 1. 9E04 3.3E02 ~ 9.2E04| 9/ 12 1. 504 4, 9E02 ~ 5.4E04| 6/ 12 7. 4E03 7.9E02 ~ 2.4E04| 0/
n —~F A R (mg,/1)

LIk (mg,/1) 1.1 1.0 ~ 1.1 2/ 2 1.1 1.0 ~ 1.1 2/ 2 1.0 0.90 ~ L1f 4/

B (mg,/1) 0. 052 0.030 ~ 0.074] 2/ 2 0. 048 0.031 ~ 0.065| 2/ 2 0. 052 0.040 ~ 0.062| 4/

] (mg,/'1) 0. 007 0.006 ~ 0.009] 0/
HEITA (mg,/1)
EYT v (mg,/'1)
k) (mg,/'1)
I PA=FS (mg,/1)

=S (mg,/1) < 0.005 < 0.005 0/
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)
= (mg,/1)
3 (mg,/'1)
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hVZmu=g (mg,/1)
M) ZmpxFLyo (mg,/1)
FhrIrsmBREFLY (mg,/1)
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)

135 # (ng/1) | < 0. 02 < 0.02 0/ 1]« 0. 02 < 0.02 0/ 1

1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
EEWESIZ "t (mg,/1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)

T = T A (mg,/1) 0. 06 0.05 ~ 0.07| 1/
AT S Fx (mg./'1)
Z O H ER AN (mg,/1)
Sk (mg./'1)

(BE) 3] < 1~ 5| 7/ 12 3 1~ 9|11/ 12 3 1~ 5.4 4/

BRARE R (ms/m) 7.2 5.3 ~ 9.4|12/ 12 8.0 6.1 ~ 9.4|12/ 12

C1AAr# (mg,/1) 8 4~ 14] 4/
Jman7 4l ax (ug/l)

S AT R B R R (15,7 100m1) 630 560 ~ 690 2/ 2 180 420 ~ 530| 2/ 2 190 100 ~ 800| 4/
A 4o FETG AL (ng,/1)




SRR 224F BE

KB

N
TCN

S

[ES )11 i /LT A
HERS [ K7 () EEER (®) [ (B)

HEE H HETE SfE) S N~ T KA n/n E25] S/ N~ KA n/n 23] S/ NME~ KA n/n
p H 7.4 7.1~ 8.1[ 0/ 12 7.7 7.4~ 7.9[ 0/ 4 7.6 7.4~ 7.8] 0/
DO (mg,1) 10 8.0 ~ 12[ 0/ 12 11 8.4 ~ 1l o/r 4 11 8.4 ~ 15| 0/
BOD (mg,1) 1.7 < 0.5 ~ 3.5 1/ 12 0.8 0.7 ~ 0.9] 0/ 4 0.7 0.5 ~ 0.8 0/
BOD (T B 75%1) 2.0 0.8 0.8
coD (mg/1) 3.1 2.4 ~ 1.0l 0/ 12 2.7 2.3 ~ 2.9l 0/ 4 2.1 1.4~ 2.8 0/

AEERSIEA (D [s's (mg,/1) 5 1~ 12[ 0/ 12 5 1~ 1 os 4 2 1~ 3l 0/
Ry B A (MPN,/100m1) 7. 5803 2. 4E02 ~ 2.4604| 4/ 12 2. 1E04 2. 4E03 ~ 5.4804] 2/ 4 9. 7E03 4. 9E03 ~ 2.4E04| 1/
n —~F A R (mg,/'1) ND 0/ 2
LIk (mg,/1) 1.2 0.93 ~ 1.7]12/ 12 0. 87 0.78 ~ 0.95[ 2/ 2 0.93 0.91 ~ 0.94] 2/
B (mg,/1) 0.078 0.052 ~ 0.11[12/ 12 0. 046 0.032 ~ 0.059] 2/ 2 0. 041 0.030 ~ 0.051[ 2/
X (mg,/1) 0.012 0.007 ~ 0.022[ 0/ 12
BRI Y A (mg/1)| < 0.001 < 0.001 0/ 1| < 0.001 < 0.001 0/ 1
LTV (mg,/'1) ND ND 0/ 1 ND ND 0/ 1
dn (mg/1)| < 0.005 < 0.005 0/ 6| < 0.005 < 0.005 0/ 1
Al | L (mg/ )| < 0.04 < 0.04 0/ 1f< o004 < 0.04 0/ 1
3 (mg/1)| < 0.005 < 0.005 0/ 6
KRR (mg/1)| < 0.0005 <0. 0005 0/ 1f< 0.0005 <0.0005 0/ 1
T X LK (mg,/1)

PCB (mg,/1) ND ND 0/ 1
vrauarl (ng/1)| < 0.002 < 0.002 0/ 1
DU fb (mg/1) | < 0.0002 <0. 0002 0/ 1| < 0.0002 <0. 0002 0/ 1
1, 2-Ysnpxyy (mg,/1) | < 0.0004 <0.0004 0/ 1
1, 1-Y/apxFLy (mg/ 1| < 0.002 < 0.002 0/ 1
YA—1, 2—Y/uRxFLr (mg/ 1| < 0.004 < 0.004 0/ 1
W B 1, 1, 1—h)Zupxg (mg/1)| < 0.0005 <€0. 0005 0/ 1] < 0.0005 <€0. 0005 0/ 1
1, 1, 2—hYsmmxyr (mg,/ 1) | < 0.0006 <0. 0006 0/ 1f < 0.0006 <0. 0006 0/ 1
FYsmpTFLy (mg,/1)| < 0.002 < 0.002 0/ 1| < 0.002 < 0.002 0/ 1
FhIrmBIFL L (mg,/1) | < 0.0005 <€0. 0005 0/ 1| < 0.0005 <€0. 0005 0/ 1
1, 3—Yrunrusy (mg/1) | < 0.0002 <0. 0002 0/ 1] < 0.0002 <0. 0002 0/ 1
FUI A (mg/1) | < 0.0006 <€0. 0006 0/ 1
PRt (mg/1) | < 0.0003 <€0.0003 0/ 1
FARXUHNT (mg,/1)| < 0.002 < 0.002 0/ 1
R (ng,/1) [ < 0.001 < 0.001 0/ 1
Ly (mg,/1)| < 0.002 < 0.002 0/ 1
R %8 3R e OV R 28 3 (mg,/'1) 0. 80 0.60 ~ 1.0l 0/ 2
R 5 S (mg,/'1) 0.013 0.007 ~ 0.018[ 2/ 2
SR (mg,/1) 0.1 0.1 0/ 2
135 # (mg,/1) 0. 05 0. 05 0/ 2|< 0. 02 < 0.02 0/ 1
1, A= VFF P (mg,/1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
Jma kLA (mg,/'1)
rFv2—1, 2-Vr/mrprFL (mg,/1)
1, 2-YrmrurrrAy (mg,/1)
p—YrmRR Yy (mg/1)
AV FYFF (mg./'1)
ATV (mg,/1)
Zx=btrFFr (MEP) (mg./'1)
AV TaFHT (mg/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg/1)
R D nwﬁ%’x fDDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
suji=tr7=xr (CNP) * (mg./'1)
bz (mg/1)
FrLy (mg/1)
THNEED T ~F L (mg./'1)
=k (mg./'1)
€Y TT (mg,/1)
TYFEY (mg,/1)
ke =LE ) ~v— (mg,/1)
TEsmRE RY Y (ng/1)
Ky (mg,/1)
v7v (mg,/1)
eVt (mg,/1) < 0.01 0o/ 2
% (mg./1) < 0.0l 0/ 2
k(AR = (mg/1) 0. 06 2/ 2
~ A (TEARE) (ng,/'1) < 0.02 0/ 2
RS (mg./1) < 0.02 0/ 2
T =T HEEHR (mg,/1) 0.05[ < 0.05 ~ 0.05| 1/ 2
DATHEE S R (mg,/1)
Z ORI H (mg,/1) 0. 059 0.038 ~ 0.079[ 2/ 2
(mg./'1)
8 (BE) 3 1~ 912/ 12 4 1~ 8| 4/ 4 2 1~ 3| 4/
SRR R (ms/m) 7.3 6.8 ~ 8.1| 4/ 4 7.1 6.2 ~ 8.4 4/
ClAFrx (mg./'1) 12 7~ 16 2/ 2
Jman7 4l ax (ug/l)
S AT R B R R (15,7 100m1) 400 210 ~ 590 2/ 2 350 340 ~ 360| 2/ 2
A A BT A (mg,/1)




TR

KB

N
TNES

S

[ES A )N
HE [ (B) B (n)

s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n 25 S/ NME~ KA m/n
p H 7.9 7.5 ~ 8.7 1/ 4 7.7 7.5 ~ s.1] 0/ 4
DO (mg,1) 11 9.1 ~ 150 0/ 4 11 9.1~ 14 0/ 4
BOD (mg,1) 0.8 0.7 ~ 0.9] 0/ 4 0.8 0.5 ~ 12| 0/ 4
BOD (T B 75%1) 0.8 1.1
COD (mg,1) 1.9 1.5 ~ 2.4 0/ 4 2.1 1.1~ 2.6 0/ 4

AEERSIEA (D [s's (mg,/1) 2| < 1~ 3] 0/ 4 4 1~ 8l 0/ 4
Ry B A (MPN,/100m1) 6. 5E03 3.3E03 ~ 1L.3E04 1/ 4 1. 6E04 1. 1E03 ~ 3.5804| 4/ 4
n —~F A R (mg,/1)

LIk (mg,/1) 0.76 0.72 ~ 0.80[ 2/ 2 1.3 1.2~ 13 2/ 2

B (mg,/1) 0. 045 0.035 ~ 0.055| 2/ 2 0. 031 0.024 ~ 0.037[ 2/ 2
ity (mg,/1)
HEITA (mg,/1)
EYT v (mg,/'1)
k) (mg,/'1)
I PA=FS (mg,/1)
ft# (mg,/1)
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)
= (mg,/1)
3 (mg,/'1)
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hVZmu=g (mg,/1)
M) ZmpxFLyo (mg,/1)
FhrIrsmBREFLY (mg,/1)
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)
ERES (mg,/'1)
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)

v A (mg./1) < 0.02 0/ 1 < 0,02 0/ 1

V5 (mg,/1) <0.0002 0/ 1 <0. 0002 0/ 1
EEWESIZ "t (mg,/1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z O H ER AN (mg,/1)
Sk (mg./'1)

(BE) 1 1~ 2| 4/ 4 5 1~ 15 4/ 4

TERUR I R (ms/m) 8.6 7.7~ 9.5 4/ 4 10 8.8 ~ 12| 4/ 4
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)

S AT R B R R (fi5,/100m1) 280 240 ~ 320 2/ 2

A 4o FETG AL (ng,/1)




TR

AR e

S

[ES IR B
T HA - (AA) i () BB (0
s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n 25 S/ NME~ KA m/n
p H 7.2 6.9 ~ 7.4 0/ 12 7.7 7.3 ~ 8.4 0/ 12 7.6 7.4~ 7.9[ 0/ 12
DO (mg/1) 10 8.1~ 13 0/ 12 11 9.1 ~ 14| 0/ 12 11 9.1 ~ 12| 0/ 12
BOD (mg,1) 0.5] < 0.5 ~ 0.7] 0/ 12 0.8] < 0.5 ~ 19| 0/ 12 0.6 < 0.5 ~ L2f 0o/ 12
BOD (B 75%i) | < 0.5 0.8 0.6
COD (mg,1) 1.3[ < 0.5 ~ 5.2 0/ 12 1.9 0.5 ~ 10| 0/ 12 1.6 0.7 ~ 5.0 0/ 12
AEERSIEA (D [s's (mg,/1) 2| < 1~ 13[ 0/ 12 10] < 1~ 88| 1/ 12 1 1~ 21 0/ 12
Ry B A (MPN,/100m1) 3. 8E03 2.1E02 ~ 2.4E04] 12/ 12 1. 1E04[ < 1.8E00 ~ 5.4E04| 10/ 12 1. 4E04 3.3E02 ~ 9.2E04| 9/ 12
n —~F A R (mg,/1)
LIk (mg,/1) 0.72 0.62 ~ 0.81) 2/ 2 0. 36 0.26 ~ 0.45| 2/ 2
B (mg,/1) 0. 048 0.040 ~ 0.055| 2/ 2 0. 023 0.021 ~ 0.025[ 2/ 2
ity (mg,/1)
BRI Y A (mg,/1) < 0.001 < 0.001 0/ 1
BTV (mg,/1) ND ND 0/ 1
k) (mg,/'1) < 0.005 < 0.005 0/ 2
Al 7 2 (mg,/1) < 0,04 < 0.04 0/ 1
ft# (mg,/1)
Fak R (mg,/1) < 0.0005 <€0. 0005 0/ 1
TV F VKSR (mg,/'1)
PCB (mg,/'1)
vaa A Ky (mg,/1)
Ju i {k (mg,/'1) < 0.0002 <0. 0002 0/ 1
1, 2 (mg,/1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg./1) < 0.0005 <0.0005 0/ 1
1, 1, 2—hYsmmxyr (mg,/1) < 0.0006 <0. 0006 0/ 1
WEEEES 2% (mg,/1) < 0.002 < 0.002 0/ 1
FhIsmpTFLL (mg/1) < 0.0005 <0. 0005 0/ 1
1, 3—Yrunrusy (mg,/1) < 0.0002 <0. 0002 0/ 1
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
(mg/1)
(mg/1) < 0,02 < 0.02 o/ 1< 0.02 < 0.02 0/ 1
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
7x=hnFir (MEP) (mg/1)
Ay TaFtT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
(mg,/'1)
TUFEL (mg,/1)
Hihe=1%/)~v— (mg,/1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
EEWESIZ "t (mg,/1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z OfhIEH AV b CEERRY Lok (ng,/'1)
TOC* (mg,/ 1)
8 (BE) 3 < 1~ 8l 4/ 12 8 < 1~ 31| 7/ 12 2 1~ 8|12/ 12
BRURY (ms/m) 3.4 2.1 ~ 4.4]12/ 12 7.3 4.8 ~ 10|12/ 12 7.7 5.7 ~ 1012/ 12
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (15,7 100m1) 56 12 ~ 100f 2/ 2 18 11~ 82| 2/ 2
A 4o FETG AL (ng,/1)




TR

AR e

S

[ES 0 J5) 1 L it 5 1T i JII_E)I
HEHLT [ R (AA) BB (AA) I (A)

35 16 H 7 i S5 S /M~ Ji KA n/n 1) S /M~ Ji KA n/n -5 S/ IMIF A~ Ji KA n/n
pH 7.7 7.4 ~ 7.8] 0/ 4 7.7 7.5 ~ 7.8] 0/ 7.6 7.3 ~ 7.8] 0/
DO (mg,1) 10 9.5 ~ 1 os 4 11 10 ~ 11| o/ 9.8 9.0 ~ 1] 0/
BOD (mg,1) 0.6 0.5 ~ 0.8] 0/ 4 0.6 0.5 ~ 0.7] 0/ 0.6 < 0.5 ~ 0.7] 0/
BOD (FBe:75%fi0) | < 0.5 < 0.5 0.6
COD (mg,1) 0.9 0.5 ~ 15[ 0/ 4 1.2 0.5 ~ 2.0] 0/ 1.3 0.5 ~ 1.6] 0/

AEERSIEA (D [s's (mg,/1) 3 1~ 8l 0/ 4 4 1~ 13 0/ 2| < 1~ 4] 0/
Ry B A (MPN,/100m1) 4. 3802 2. 3802 ~ 4.9802| 4/ 4 3. 5E03 1. 3E03 ~ 7.9803]| 4/ 1. 2E04 2.8E03 ~ 2.8E04| 4/
n —~F Al T (mg,/1)

A Hx (mg,/'1) 0.37 0.34 ~ 0.40] 2/
Lk (mg,/1) 0.013 0.010 ~ 0.016[ 2/
ity (mg,/1)
HEITA (mg,/1)
EYT v (mg,/'1)
k) (mg/1)| < 0.005 < 0.005 0/ 2
I PA=FS (mg,/1)
ft# (mg,/1)
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)
= (mg,/1)
3 (mg,/'1)
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hVZmu=g (mg,/1)
M) ZmpxFLyo (mg,/1)
FhrIrsmBREFLY (mg,/1)
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)
139 # (ng/1) | < 0. 02 < 0.02 0/ 2
L, A=Y A %4 (mg/1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
A 8 () (mg,/1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
ToFEY (mg,/1) <0. 0002 0/
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)
B H Y (mg,/ 1) < 0.02 0/
V5 (mg,/'1) <€0. 0002 0/
EEWESIZ "t (mg,/1)
il (mg./'1)
B (RARE) = (mg,/1)
~ A (TEARE) (mg,/1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z O H ER AN (mg,/1)
Sk (mg./'1)
(BE) 3 1~ 5| 3/ 4 6 1~ 1| 2/ 3] < 1~ 5[ 3/
TERUR I R (ms/m) 7.1 4.4 ~ 8.8 4/ 4 7.6 4.6 ~ 9.1| 4/ 1.6 4.1 ~ 5.2| 4/
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (f#,/100m1)
A A FRH A (mg,/1)




TR

KB

N
TNES

S

[ES ANV S| AN
HE R [ETTA Al [ B () B ()

s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n 25 S/ NME~ KA m/n
p H 7.8 7.6 ~ 7.9[ 0/ 4 7.3 7.0 ~ 7.5 0/ 4 7.9 7.4~ 8.2| o/
DO (mg,1) 11 9.5 ~ 13 o/ 4 9.8 9.1~ 1 os 4 10 9.6 ~ 1] 0/
BOD (mg,1) 0.5 0.5 ~ 0.6] 0/ 4 0.9 0.6 ~ 1.2] 0/ 4 0.6 0.5 ~ 10| 0/
BOD (F Be: 75%i0) 0.5 1.2 < 0.5
COD (mg,1) 1.1 0.5 ~ 2.4] 0/ 4 2.0 1.4~ 3.3 0/ 4 1.0 0.7 ~ 14| 0/

AEERSIEA (D [s's (mg,/1) 6 1~ 20l 0/ 4 2 1~ 3 0/ 4 2 1~ 4 0/
Ry B A (MPN,/100m1) 4. 0E03 1. 3E02 ~ L1E04| 4/ 4 2. 1E04 4, 9E03 ~ 5.4804| 4/ 4 7. 4E03 1. TB02 ~ 2.4E04| 2/
n —~F A R (mg,/1)

A Hx (mg,/1)
Sxfk (mg,/1)
ity (mg,/1)
RS (mg//1)| < 0.001 < 0.001 0/ 1
LTV (mg,/'1) ND ND 0/ 1
k) (mg/1)| < 0.005 < 0.005 0/ 1
Al 7 2 (mg/ D] < 0.04 < 0.04 0/ 1
ft# (mg,/1)
#ek g (mg/1)| < 0.0005 <0. 0005 0/ 1
TV F VKSR (mg,/'1)
PCB (mg,/'1)
= (mg,/1)
3 (mg/1)| < 0.0002 <0. 0002 0/ 1
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg/1)| < 0.0005 <0. 0005 0/ 1
1, 1, 2—hYsmmxyr (mg,/1)| < 0.0006 <0. 0006 0/ 1
WEEEES 2% (mg/1)| < 0.002 < 0.002 0/ 1
FhIrmBIFL L (mg,/1) | < 0.0005 <0. 0005 0/ 1
1, 3—Y/mrrasy (mg,/1)| < 0.0002 <0. 0002 0/ 1
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)
139 # (ng/1) | < 0. 02 < 0.02 0/ 1
L, A=Y A %4 (mg/1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)
v A (mg./1) < 0.02 0/ 1 0.02 0/ 1
V5 (mg,/1) <0.0002 0/ 1 <0. 0002 0/ 1
EEWESIZ "t (mg,/1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z O H ER AN (mg,/1)
Sk (mg./'1)
(BE) 10 1~ 19] 2/ 4 3 1~ 4| 2/ 4 1 1~ 2| 3/
TERUR I R (ms/m) 7.7 6.2 ~ 8.2 4/ 4 5.3 3.8 ~ 6.8 4/ 4 9.0 4.1 ~ 1| 4/
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (f#,/100m1)
A A BT A (mg,/1)




ERR22MEEE  KIRRIR RS

W% R
HEHS [ TR & [

s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n RE5] Ji /M~ TR KA m/n
p H 7.8 7.5 ~ s.0f o/ 4
DO (mg,1) 9.2 8.3 ~ 100 0/ 4
BOD (mg,1) 0.6] < 0.5 ~ 0.71 0/ 4
BOD (T B 75%1) 0.6
COD (mg,1) 1.1 0.9 ~ 1.3 0/ 4

AEERSIEA (D [s's (mg,/1) 1 < 1~ 1o/ 4
KI5 BB (MPN,/100m1) 1. 6E03 2. 2802 ~ 4.9803] 1/ 4
n —~F A R (mg,/1)
LIk (mg,/1) 0.19 0.11 ~ 0.31] 4/ 4
A (mg,/'1) 0. 007 0.004 ~ 0.013| 4/ 4
ity (mg,/1)
HEITA (mg,/1)
EYT v (mg,/'1)
k) (mg,/'1)
I PA=FS (mg,/1)
ft# (mg,/1)
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)
vran ALy (mg,/'1)

3 (mg,/'1)
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hVZmu=g (mg,/1)
M) ZmpxFLyo (mg,/1)
FhrIrsmBREFLY (mg,/1)
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)
ERES (mg,/'1)
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
4 F U8 (FR) (mg,'1)
smrZrn=/, (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
EEWESIZ "t (mg,/1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z OfIH vk g (mg/1)
Sk (mg./'1)
(1)

BRARE R (ms/m) 3.6 3.2 ~ 4.0l 4/ 4
ClAFr* (mg./'1)

smna7 )l axk (ng/l) 1 < 1~ 1|1/ 2
S AT R B R R (f#,/100m1)
A A BT A (mg,/1)




TR

AR e

S

[lIES E)T TE)T
HGE L [ERER Y & () RS ()

s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n 25 Ji /M~ TR KA m/n
p H 7.4 7.1~ s.0f o/ 4 7.2 6.8 ~ 7.6 0/
DO (mg,1) 9.0 8.3 ~ 1 9.8 9.0 ~ 10| 0/
BOD (mg,1) 0.6 < 0.5 ~ 0.8] 0/ 4f< 0.5 < 0.5 0/
BOD (T B 75%1) 0.5 < 0.5
COD (mg,1) 1.0 0.7 ~ 12f o/ 4 0.9 0.6 ~ 1.1] 0/

AEERSIEA (D [s's (mg,/1) 1 < 1~ 1o/ 4 4 1~ 17| 0/
Ry B A (MPN,/100m1) 1. 5E03 3.3E01 ~ 4.9803] 1/ 4 1. 9E03 1.3E02 ~ 7.9£03| 3/
n —~F A R (mg,/1)

LIk (mg,/1) 0.17 0.08 ~ 0.28) 4/ 4 0. 30 0.18 ~ 0.39] 4/

B (mg,/1) 0.004| < 0.003 ~ 0.007) 1/ 4 0.013 0.003 ~ 0.032| 3/
ity (mg,/1)
HEIT A (mg,/1)
BTV (mg,/1)

k) (mg,/'1) < 0.005 < 0.005 0/
I PA=FS (mg,/1)
ft# (mg,/1)
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)
= (mg,/1)
§ (mg,/'1)
syonxyy (mg,/'1)
1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hYrmppxy (mg,/1)
FYsmpTFLL (mg/1)
FhrIrsmBREFLY (mg,/1)
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg,/'1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/'1)
ERES (mg,/'1)
1, 4—VFFH (mg,/'1)
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
FALTALFE R (mg,/'1)
Jma kLA (mg,/'1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7mrr7r/Ny (mg,/1)
p—YrmRR Yy (mg/1)
A Y FHF L (mg/1)
ATV (mg,/1)
Z7x=tuFF (MEP) (mg./'1)
A TaFFT (mg,/1)
4 F U8 (FR) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 {DDVP) (mg/1)
7= /)7 HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
suji=tr7=xr (CNP) * (mg./'1)
bz (mg/1)
FrLy (mg/1)
TN T F L~F L (mg,/ 1)
= bk (mg./'1)
€Y TT (mg,/1)
TYFEY (mg,/1)
Hifbe =% ) <— (mg,/ 1)
TEsmRE RY Y (ng/1)
ERe (mg,/1)
v7v (mg,/1)
Tz ) — V% (mg,/ 1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T HEEHR (mg./'1)
AT S Fx (mg./'1)
Z ORI H A Y R (mg./'1)
b (mg./'1)

(BE) 6 1~ 27| 6/

TERUR I R (ms/m) 3.6 2.8 ~ 4.2| 4/ 4 1.6 1.1 ~ 5.4| 6/
ClAFr* (mg./'1)

Jmn7 gbvak (ug/l) 2/ 2 1 2/

S AT R B R R (fi5,/100m1) 6 2~ 10 1/
A A BT A (mg,/1)




TR

KIS 2

W% [ B BN AT
[ BNl [ RIS 2 (AA) EE RO (AR)
)T H HETE SEH) S N~ T KA n/n fE5] S/ N~ KA n/n 25 S/ NME~ KA n/n
p H 7.5 7.3 ~ 7.7 0/ 12 7.2 6.8 ~ 7.6[ 0/ 9 7.5 7.4~ 7.6] 0/ 4
DO (mg,1) 11 8.7 ~ 14| 0/ 12 9.5 8.3 ~ 1| o/ 7 11 8.9 ~ 14| 0/ 4
BOD (mg,1) 0.6 < 0.5 ~ 0.9] 0/ 12 0.7] < 0.5 ~ 17| 2/ 9 0.5 0.5 ~ 0.6 0/ 4
BOD (F Be: 75%i0) 0.5 0.8 < 0.5
COD (mg,1) 15[ < 0.5 ~ 2.9 0/ 12 2.1 1.2 ~ 2.9l 0/ 9 1.2 0.5 ~ 15| 0/ 4
AEERSIEA (D [s's (mg,/1) 2| < 1~ 7] 0/ 12 2| < 1~ 31 0/ 9 2 1~ 2 0/ 4
Ry B A (MPN,/100m1) 2. 5E03 7.9E01 ~ 7.9803| 12/ 12 2. 0E03 9. 3E00 ~ 1.3E04[ 7/ 9 8. 6E02 3.3E01 ~ 1.3E03[ 3/ 4
n —~F T (mg,/1)
LIk (mg,/1) 0.29 0.28 ~ 0.30[ 2/ 2 0.32 0.23 ~ 0.44] 9/ 9 0. 22 0.19 ~ 0.25| 2/ 2
B (mg,/1) 0. 009 0.006 ~ 0.012] 2/ 2 0.012 0.006 ~ 0.018] 9/ 9 0.011 0.003 ~ 0.019[ 1/ 2
] (mg,/1) < 0.001 <0.001 0/ 6
AR A (mg,/1) < 0.001 <0.001 0/ 5| < 0.001 <0.001 0/ 1
R (mg,/'1) ND ND 0/ 5 ND ND 0/ 1
§h (mg/ 1| < 0.005 < 0.005 0/ 2[< 0.005 < 0.005 0/ 5| < 0.005 < 0.005 0/ 1
Al | L (mg,/1) < 0,04 < 0.04 0/ s5[< o004 < 0.04 0/ 1
=S (mg,/1) < 0.005 < 0.005 0/ 5
KK R (mg,/1) < 0.0005 <0.0005 0/ 5| < 0.0005 <0. 0005 0/ 1
TV F VKSR (mg,1) ND ND 0/ 2
PCB (mg,/'1) ND ND 0/ 2
Crun ALy (mg,/'1) < 0.002 < 0.002 0/ 2
DU fb (mg,/'1) < 0.0002 <0. 0002 0/ 2| < 0.0002 <0. 0002 0/ 1
1, 2-Ysnpxyy (mg,/'1) < 0.0004 <0.0004 0/ 2
1, 1-Y/apxFLy (mg,/'1) < 0,002 < 0.002 0/ 2
vA—1, 2—Y/upzFLo (mg,/'1) < 0.004 < 0.004 0/ 2
fo— 1, 1, 1-hYsumxyy (mg,/'1) < 0.0005 <0.0005 0/ 2[< 0.0005 <0.0005 0/ 1
1, 1, 2—hYsmmxyr (mg/1) < 0.0006 <0. 0006 0/ 2[< 0.0006 <0.0006 0/ 1
PA==E P (mg,/1) < 0.002 < 0.002 0/ 2| < 0.002 < 0.002 0/ 1
FhIrmBIFL L (mg/1) < 0.0005 <€0. 0005 0/ 2| < 0.0005 <€0. 0005 0/ 1
1, 3—Yrunrusy (mg,/1) < 0.0002 <€0. 0002 0/ 2| < 0.0002 <€0. 0002 0/ 1
FUT A (mg/1) < 0.0006 <0. 0006 0/ 2
Pt (mg/1) < 0.0003 <€0.0003 0/ 2
FARLINT (mg/1) < 0.002 < 0.002 0/ 2
R (mg/1) < 0.001 < 0.001 0/ 2
Ly (mg/1) < 0.002 < 0.002 0/ 2
T A 28 S % OV R A 28 R (mg,/1) 0.21 0.12 ~ 0.33) 0/ 9
R 5 S (mg,/1) 0.003| < 0.002 ~ 0.003| 5/ 9
o (mg,/ 1) < 0.1 < 0.1 0/ 2
139 # (mg/1) < 0,02 < 0.02 0o/ 2[< 0.02 < 0.02 0/ 1
1, 4—VFFH (mg,/'1)
V=T (mg,/1)
KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
Forz2—1, 2-YZppxFLr (mg./'1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
7x=hnFir (MEP) (mg/1)
AV TaFHT (mg/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)
R \\/\‘71:1/@%7 fDDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
THNBEYTF L ~F L (mg,/1)
= ALk (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
Hihe=1%/)~v— (mg,/1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
EEWESIZ "t (mg,/1)
il (mg./'1)
(R = (mg,/1)
~ v (GREE) * (mg./'1)
7\ h (mg./'1)
T e =T AR (mg,/1) 0.05[ < 0.05 ~ 0.05 1/ 9
AT A Fix (mg,/1) 0.88 0.70 ~ Lol 4/ 4
Z ORI H (mg,/1) 0.006[ < 0.003 ~ 0.007 2/ 9
(mg,/1) 0.9 0.7 ~ 11| 5/ 5
8 (BE) 3 < 1~ 7] 5/ 12 2| < 1~ 3 6/ 9 < 1 0/ 4
BRAGE R (ms/m) 3.7 2.8 ~ 1,712/ 12 1.0 3.3 ~ 1.7l 9/ 9 3.4 3.2 ~ 3.8 4/ 4
C 1A Frx (mg.,/'1) 2 1~ 2| 9/ 9
JHET ) ak (ng/l) 1] < 1~ 9| 8/ 9
S AT R B R R (fi5,/100m1) 88 65 ~ 1of 2/ 2
A A R IR A (ng,/1)




TR

AR e

S

W% BB 3L
HE L [AIT& Al [} IR ()

s E HGENT SfE) S N~ T KA m/n 25 S/ N~ KA n/n 25 S/ NME~ KA m/n
p H 7.5 7.4 ~ 7.6] 0/ 4 7.5 7.5 ~ 7.6] 0/
DO (mg,1) 11 8.7 ~ 1l o/ 4 10 7.4 ~ 13| 1/
BOD (mg,/1)| < 0.5 < 0.5 0/ 4 0.5 0.5 ~ 0.5| 0/
BOD (B 75%i) | < 0.5 0.5
COD (mg,1) 1.5 1.2 ~ 2.2 0/ 4 1.3 0.9 ~ 2.1 0/

AEERSIEA (D [s's (mg,/1) 2 1~ 2l 0/ 4 4 1~ 7] 0/
Ry B A (MPN,/100m1) 7. 6E03 7.9E02 ~ 1L7E04| 3/ 4 1. 3E04 1.9E01 ~ 2.4E04] 3/
n —~F A R (mg,/1)
LIk (mg,/1) 0. 59 0.58 ~ 0.60[ 2/ 2 0. 36 0.35 ~ 0.37) 2/
B (mg,/1) 0. 026 0.003 ~ 0.048] 1/ 2 0.015 0.006 ~ 0.023[ 2/
ity (mg,/1)
HEITA (mg,/1)
EYT v (mg,/'1)
k) (mg,/'1)
I PA=FS (mg,/1)
ft# (mg,/1)
KR (mg,/1)
TV F VKSR (mg,/'1)
PCB (mg,/'1)

= (mg,/1)

3 (mg,/'1)
syonxyy (mg,/'1)

1, 1—-YZup=FLv (mg,/1)
VA—1, 2—Y/uRnTFLv (mg,/'1)
fo— 1, 1, 1-hYsumxyy (mg,/1)
1, 1, 2—hVZmu=g (mg,/1)
M) ZmpxFLyo (mg,/1)
FhrIrsmBREFLY (mg,/1)
1, 3—Yrmursu~y (mg,/'1)
FUT A (mg/1)
D (mg,/1)
FARUHNT (mg,/'1)
Ry (mg,/'1)
L (mg,/1)
AR A 28 0 R OV AR R 28 5 (mg,/'1)
VR A A 2 (mg,/1)
o (mg,/1)
ERES (mg,/'1)
L, A=Y A %4 (mg/1)
V=T (mg,/1)

KAEEEEHER (7= —1 (mg,/1)
RILVAT LT B R (mg,/1)
V=T (mg,/1)
FILURA—1, 2—VsppFL (mg/1)
1, 2—=Y7murruy (mg,/1)
p—Yrmpr¥r (mg./'1)
AV FYFF (mg./'1)
TAT V) (mg./'1)
Z7x=hueFir (MEP) (mg/1)
A TaFFT (mg,/1)
A (HRER) (mg,'1)
smau#ur=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg,/1)

R \\/\‘71:1/@%7 {DDVP) (mg,/1)
Zx)7HNT (BPMC) (mg,/1)
A7 a~rkA (1BP) (mg/1)
sul=tr7xr (CNP) * (mg/1)
INDES (mg,/1)
FrLy (mg/1)
TN T F L~F L (mg,/1)
=L (mg,/1)
€Y TT (mg./'1)
TYFEY (mg,/1)
e = 1% ) ~— (mg,/ 1)
TEsmRE RY Y (ng/1)
B H Y (mg./'1)
v7v (mg,/1)
EEWESIZ "t (mg,/1)
il (mg./'1)
(R = (mg,/1)
~ N (AR x (mg,1)
7\ h (mg./'1)
T =T g S (mg./'1)
AT S Fx (mg./'1)
Z O H ER AN (mg,/1)
Sk (mg./'1)

(BE) 1 1~ 1| 1/ 4 2 1~ 2| 3/

TERUR I R (ms/m) 5.3 5.0 ~ 5.7 4/ 4 4.8 4.5 ~ 5.3 4/
ClAFr* (mg./'1)
Jman7 4l ax (ug/l)
S AT R B R R (f#,/100m1)
A A BT A (mg,/1)




TR

KB

S EES

[ES ) GEE) LI G
HEHLT [N S A (BT (A) eI 42 (ki) (A)

S H I EfE RE5] S /M~ Ji KA n/n 1) S /M~ Ji KA n/n -5 S/ IMIF A~ Ji KA w/n
pH 7.5 7.0 ~ 8.6] 1/ 12 7.3 6.9 ~ 7.7 0/ 18
DO (mg,1) 10 8.0 ~ 12[ 0/ 12 9.0 6.6 ~ 11| 0/ 18
BOD (mg,1) 0.7] < 0.5 ~ 14f 0/ 12
coD (mg,1) 1.3[ < 0.5 ~ 2.2] 0/ 12 1.3 0.9 ~ 2.0l 0/ 18
COD (T B 75%1) 17 1.5

AEERSIEA (D [s's (mg,/1) 1 < 1~ 51 0/ 12 1 < 1~ 31 0/ 18
Ry B A (MPN,/100m1) 2. 3803 1. 1E02 ~ 1104 6/ 12 3. 4E01 2. 0E00 ~ 7.9801| 0/ 6
n —~F Al T (mg,/1)

LIk (mg,/1) 0.32 0.20 ~ 0.49[12/ 12 0.29 0.26 ~ 0.33] 6/ 6
B (mg,/1) 0.013 0.004 ~ 0.031[12/ 12 0.003[ < 0.003 ~ 0.005[ 6/ 6
] (mg,1) 0. 004 0. 004 0/ 2
BRI Y A (mg/1)| < 0.001 < 0.001 0/ 2| < o0.001 < 0.001 0/ 1
R (mg,/'1) ND ND 0/ 2 <01 0/ 1
i (mg/1)| < 0.005 < 0.005 0/ 2| < 0.005 < 0.005 0/ 1
Al | L (mg/ D] < 0.04 < 0.04 0/ 2 0.04 0.04 0/ 1
=3 (mg/1)| < 0.005 < 0.005 0/ 2 0. 005 0.005 0/ 1
KRR (mg/1)| < 0.0005 <0. 0005 0/ 2 0.0005 0. 0005 0/ 1
TV F VKSR (mg,1) ND ND 0/ 2
PCB (mg,/1) ND ND 0/ 2
S L (mg/1)| < 0.002 < 0.002 0/ 2
Ju i {k (mg/1)| < 0.0002 <0. 0002 0/ 2
1, 2 (mg/1)| < 0.0004 <0.0004 0/ 2
1, 1-Y/apxFLy (mg/ 1| < 0.002 < 0.002 0/ 2
vA—1, 2—Y/upzFLo (mg/1)| < 0.004 < 0.004 0/ 2
fo— 1, 1, 1-hYsumxyy (mg/1) | < 0.0005 <0. 0005 0/ 2
1, 1, 2—hYsmpxyr (mg,/1)| < 0.0006 <0. 0006 0/ 2
r)ZmBpTFLo (mg/1)| < 0.002 < 0.002 0/ 2
FhIrmBIFL L (mg//1) | < 0.0005 <0. 0005 0/ 2
1, 3—Yrunrusy (mg/1) | < 0.0002 <0. 0002 0/ 2
FUT N (mg,/1) | < 0.0006 <€0. 0006 0/ 2| < 0.0006 <€0. 0006 0/ 1
Yy (mg,/1)| < 0.0003 <0.0003 0/ 2| < 0.0003 <0.0003 0/ 1
FFA AT (mg/1D)| < 0.002 < 0.002 0/ 2[< o.002 < 0.002 0/ 1
R (ng,/1) [ < 0.001 < 0.001 0/ 2
Ly (mg/1)| < 0.002 < 0.002 0/ 2| < o0.002 < 0.002 0/ 1
R %8 3R e OV R 28 3 (mg,/1) 0.24 0.04 ~ 0.35] 0/ 12
R 5 S (mg,/1) 0.003[ < 0.002 ~ 0.003[ 2/ 12 < 0.050 0/ 1
(ng/1) | < 0.1 <01 0/ 2
(mg/ 1| < 002 < 0.02 0/ 2
1, A= VFF P (mg/1) < 0.005 < 0.005 0/ 1
Jm kLA (mg,/'1)
KAEEEEHER (7= —1 (mg,/1)
HRLLT AT E R (mg,/1)
Jma kLA (mg,/'1)
Forz2—1, 2-YZppxFLr (mg./'1)
1, 2-YrmrurrrAy (mg,/1)
p—YrmRR Yy (mg/1)
AV FxYFA (mg,/1)
ATV (mg,/1)
Zx=btrFFr (MEP) (mg./'1)
AV TaFHT (mg/1)
A 8 () (mg,/1)
srrgr=,L (TPN) (mg,/1)
T eI R (mg/1)
EPN (mg/1)
R D nwﬁ%’x fDDVP) (mg/1)
Zx)7HNT (BPMC) (mg/1)
A7 a~rkA (1BP) (mg/1)
sal=fr7xy (CNP) * (mg./'1)
bz (mg/1)
¥y (mg,/'1)
THNEED T ~F L (mg./'1)
=L (mg,/1)
(mg./'1)
TUFEL (mg,/1)
Hilbe =% ) ~— (mg./'1)
TEsmrBRE R) Y (ng/1)
Ky (mg,/1)
v7v (mg,/1)
Tz ) — V% (mg,/ 1)
il (mg./'1)
B (RARE) = (mg,/1)
~ v (GREE) * (mg./'1)
7\ h (mg./'1)
T =T g S (mg./'1) < 0.05 0/ 12
AT R 5 (mg,/1)
Z DA AV b Y CEERE Y vk (mg,/1) 0.005| < 0.003 ~ 0.006[ 5/ 12
TOC* (mg,/1) 0.7f < 0.5 ~ Lof 7/ 12
8 (BE) 1 < 1~ 5|11/ 12
RURY (ms/m) 6.5 6.0 ~ 7.5|12/ 12
ClAFr* (mg./'1)
JBBET f)Lax (ng/l) 5[ < 1~ 12| 6/ 12
S AT R B R R (15,7 100m1) 9| < 2~ 18] 3/ 4
A A FRH A (mg,/1)




